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   ABSTRACT 
 

The main purposes of this research were to investigate the feasibility of compressed 
natural gas (CNG) in vans of Dhurakij Pundit University project which provides for the officers 
and the students of Dhurakij Pundit University. Because of best value, the compressed natural gas 
(CNG) was substituted instead of diesel gasoline in universityps vans for reducing the cost and its 
lower emission of engine exhausts that is good for the environment.  

The finding indicated that the feasibility of compressed natural gas (CNG) in vans of 
Dhurakij Pundit University project based on price of compressed natural gas at 8.5 Baht per 
kilogram, diesel gasoline at 27.69 Baht per liter in discount rate 0.5% at 8 years project period 
which there are two systems of the fuel transformation from diesel gasoline to CNG. First using 
the diesel dual fuel transformation, the Net Present Value (NPV) was about 105,896.13 baht with 
2.76% Benefit Cost Ratio (BCR) and 31.61% of Internal Rate of Return (IRR), at 2 years and 10 
months of payback period. Second providing the new vans with using CNG instead, the Net 
Present Value (NPV) was about 514,157.53 baht with 7.8% Benefit Cost Ratio (BCR) and 
99.90% of Internal Rate of Return (IRR), at one year of payback period. 

Moreover, the suitable way to save the cost and most worthiness was using the diesel 
dual fuel transformation for the vans which used more than 2 years and 10 months, then buy the 
new one when reach distance or retire it from active service. For less than 2 years and 10 months, 
buying the new one that using CNG was the best choice. Using compressed natural gas (CNG) in 
whole vans could be taken the benefit for the first eight years around 3,352,444.54 baht and 
4,824,708.48 baht in the last eight years. In summary, there was project feasibility and value 
investment. 
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�"
�ก�

�a8�
�	*��7�(��
'��!6�� �%�ก
 (���#�) 8 ����ก
�
�0�&���	*ก&���$%��
� *�;	;���
�0�กI�;
�

�#����
 �'�<กก%��� 6�5�*��
'��� 50% &��
�0��$%��
� *�;	 ;������C����
�6 5�*ก�
�#5กI�;
�

�#���� 7���$%��
�ก
���(��7-
(�	�� 
  
1.2  ���������������ก	��!"�# 
        1  �-)��!�ก"�B	�
'8�#��&��80
�ก�
ก�
�#5กI�;�

�#����
   7��ก�
�#5�$%��
� *�;	��
�
�<5&��7B�ก���-���'  ��������	
���
ก���
������ 
        2  �-)�����0
�'��0���0�5�0(�&��80
�ก�
ก�
�#5กI�;�

�#����
 ��
��<5&��7B�ก���-���'  
��������	
���
ก���
������ 
 

1.3  ����!%	����ก	��!"�# 

��(���5�ก�
!�ก"�0�������6�6 5��ก�
��7������*��*0���0�5�0(��<���  �%��

� 7B�ก
���-���' ��������	
���
ก���
������ �-)��	 �5����0(��#)$��-	��8 �ก�
�� �
$�
'���#5กI�;
�

�#����
 �����#)$��-	��7��ก�
�#5�$%��
� *�;	 8 ���)���%�ก�
!�ก"�����H��(��ก� 0���0�5�0(�7	5�  
����
��%�7������*�6 5���#5��ก�
�
'ก��ก�
�
 ����� �%��

� 7B�ก���-���' ��������	
�
��
ก���
������6 5 
 
1.4  ���'�����ก	�()ก*	 

ก�
!�ก"��*$����ก�
!�ก"���
*����*��0���0�5�0(��<��� &�� 2 7����� 0)�  
        1  ก�
�#5���-���'� ��8 ��� �
$�
'���#5กI�;�

�#����
 �����#)$��-	��7��    ก�
�#5�$%��
�
 *�;	 
        2  ก�
�
 ;)$����-���'���(;����� �
$�
'���#5กI�;�

�#����
 �����#)$��-	��7	5� 
8 �!�ก"��c-�'
��<5���
'�/�
��(��ก	����ก 7B�ก���-���' ��������	
���
ก���
������ 
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1.5  ���,#-������	.�/	"�0.1��� 

        1  �%���5�
���(�ก�
�� �
$�
'���#5กI�;�

�#����
 �����#)$��-	����5ก
�
��<5� ���
)�ก�
�
 ;)$�
���-���'���(;����� �
$�
'���#5กI�;�

�#����
 �����#)$��-	��7	5�   ��7B�ก���-���'�*0���
0�5�0(�ก
������������	
���
ก���
�������
)�6�( 
        2  ��(�����7	'��0	�ก
�*��ก*���&5��    8 ��c-�'B<5�
���
&�������������	
���
ก���
������ 
����
��%�6�-���
���-)��	 /�
'0(��#5�(����5ก
������������	
�6 5 
        3  ����
��%�6�����7�������ก�
!�ก"�0�������6�6 5��ก�
	 �5������ 5���)��D 6 5 
 DPU



  

 

����� 2 

��	
�� �
��� ������	��������ก���	���� 
 

2.1  ��	
������
�������ก���	���� 
        2.1.1  ����	��
��
ก����ก�����������������
���
ก�� 
            ก������� ��ก��!"�#$�%�&
�'�%����
ก��%�ก(!�� )*�&
�'�� !��
+$���,��*���-��	�ก
&
�'���.&�� )&�� �
/�0���� ����"1!�1.��� �'�����	�2���� 3��
��
�"����.&��)*�&
�'�!��
ก��
)&!�1.����กก��&
�'����#*
���#'��������� ��������� -���������������
��
���
���#'�ก(� !��

����"1)&!�1.��%��"!��������!�4�ก����"!����ก�1�5
 -��	�ก�4��
$�&
�'��"5���%	�ก*� 	�2�-�����%	�ก*� 
�4���6�ก7�����ก(
�������"1��ก�1�5
�/��ก"� 
 ก����ก�����������������
���
ก�� 	��
-�
 ก����ก���+2��!��
ก�����1)&���� 
�ก$���5���กก���4���$�ก��!�����
ก���"5���
+$���,���กก����ก������ก��!&�� �$��ก���.& 
ก���
$���
���
ก���"5�����	&"ก �"5
��5�+2��/��
�� ก�1ก��!"�#$�%���
)*�����$�� &
�'�%�
���
ก���"5� 8 %�ก����ก���"
ก&���� !��
1�ก��
& ���
�.& �$���� 	0#$�
����4���������ก��
���2��
ก"1
ก��)&$! ����"5
��
�&2�ก�2�� 8 ��
ก��)&$!���
 ��ก��ก��5� !��
� 1'ก4�&"
ก��)&$!.& #-��
���!"5
��
���
ก������	�� #� ก��%/�������&
�%�ก��)&$!.11%� �����%/����
%�ก��&
�'�.& 
ก���4���$�ก$�ก���+�

�� �"5
��5�+2��%	����)&!�1.��ก��&
�'�%	���ก���#'� 
 ก����ก�����������������
���
ก�������+�

�"5�!��%�� 
 ก���ก��&
�'���

�
��+"9�����
ก�� (Project development cycle) 3��
�����
�����1�ก�"5�!��ก���4���$�
��!��
 8 
%�ก��1�$	�����
ก������&4��"1�"5� !"5
.!������$����� �����
ก����ก� �"5
��$���4���$�ก��)&$! 
��
.1�
��ก�����"5�!��!��
 8 �"
��5 
                  2.1.1.1  � 
 ก���ก��&
�'� (Pre-investment phase) ���.ก� ก����ก��#-��ก��,0�"�� 8 
���+2���*������
ก��%����� &
�'��4� ��2���&2�ก���
ก�����.&����
� �4�ก����ก��������������� 
	&"
��ก�"5���
�� ��$�)&���
ก��.& !"�#$�%�&
�'�!���� 
                  2.1.1.2  � 
 &
�'� (Investment phase) ���.ก�  ก����ก.11��
�����$��ก���!��
 8 
ก��!$�!���4�#"PP� ก��ก��#���
 ก���"1#�"��+�"ก
��.& ก���"�ก��6Qก�1��+�"ก
�� ����!��  
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                  2.1.1.3 � 
 �4���$�ก�� (Operational phase)  ����� 
 #'����
	&"
��ก���)*��$��$��
���
ก�����&
�'���%����
ก��.&�� 	&"
��ก��5)*��$��$�����
ก��ก(��	�������4���$�ก��%	�������!��
.)�.& !$�!��)&
������� 
  8 ��ก���� #$5�#'����
ก��             
        2.1.2  	&"กก���$���� 	0���%/����
 

���%/����
��
���
ก�� 	��
-�
 �*&�����
ก��%/��U��"
ก��)&$!	�2���"+
�ก�!��
 8
�"�����)&��กก�������
ก�� 3��
���.1�
������� 3 �� �V�%	P� 8 �"
��5 
                  2.1.2.1  ���%/����
�"5�!�� (primary costs) 	��
-�
 �*&�����
ก��%/���"+
�ก����+2��ก��  
&
�'��+2��ก���4���$�
��.& 14��'
�"ก�����
ก�� ���%/����
�� �V���5�"�����������%/����
��
!�
 
��
���
ก�� 3��
�� ก�1�����
���%/����
!������5 
                                 2.1.2.1.1  ���%/����
%�ก��&
�'� 	��
-�
 �*&�����
ก��%/���"+
�ก����+2��
ก��#���
#$�
�4���
����# ��ก	�2�����W����
ก��)&$!)&)&$!��ก�� �/�� ����$� #$�
ก��#���
 
���2��
�"ก� ���2��
�2� .& �'�ก�,0ก��)&$!.& ก��!$�!"5
 ����!�� 
                                 2.1.2.1.2 ���%/����
�4���$�
��.& 14��'
�"ก��  	��
-�
 �*&�����
ก��%/�
��"+
�ก����+2��ก���4���$�
��.& ก��14��'
�"ก�����
ก�� �"5
��5  �+2��%	����
ก��#����-
�4���$�
���������
�ก!$ �/�� ����"!-'�$1 ���.�

��.& ����	������ ����54��"��/25��+&$
.& 	&��&2�� 
���14��'
�"ก�� ����XXY�.& ����54��� �� ����/�� ����� ก"� ���V��� ���&��
��&� �������"+�0 � �	&� 
���6Qก�1�� .& �����$���
 ����!��  ��
%�� 
 ��$��.�ก��
ก���4���$�
����2��ก��)&$!
"
�
*�%�
� �"1!�4� ���%/����
#�����5� �����
.& ��2��� �"1ก��)&$!#*
��5� ���%/����
#�����5� #*
��5����
 �"
�"5�
%�ก���� ��,���%/����
%�#�����5��
�"ก�$
��� ��,ก������.!�& ��
ก�����%/����
���������� �� 
%	�#���&��
ก"1��$��,ก��)&$!.& ก���4���$�
��   
                  2.1.2.2  ���%/����
�"5���
 (secondary costs) 	��
-�
 ���%/����
�2�� 8 ����ก$���5���กก����
���
ก�� 3��
1�
��"5
���
ก��� ���%/����
��
���� ���%/����
�� �V���5�"ก� �ก$���5�ก"11'��&	�2�ก&'��
1'��&����
*�V�
��ก���
ก�� 3��
���.ก� )&�#�
V�
��ก��������$� �/�� ���%/����
%�ก���Y�
ก"�
.ก���)&ก� �1#$�
.��&��� 
                  2.1.2.3  ���%/����
��������!"�!� (intangible costs) �2� ���%/����
���#"�)"#������ ��2���ก$���5�
.&��� !�������
�ก	�2����#����-� !������ก������!"��
$�����&
 .!��������%/����
������
ก��
ก��%	��ก$���5���$
 �"
�"5� ��
��ก��������#'� �2� �����ก��� 1'������
ก���"5� 8 � ก��%	��ก$����%/����

�� �V���5�
*����
 3��
���� � 1'������$��,��
)*�����"1)&ก� �1��
���!��
��ก���4���,��ก��
�����*&��� �"5
��5�+2��%	�)*����4����!"�#$�%�������1.& #����-�4����%/����
�"5
�����!"�!�.& �����
!"�!����� ก�1ก��!"�#$�%�  

DPU
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        2.1.3  	&"กก���$���� 	0)&!�1.�� 
 )&!�1.����
���
ก�� 	��
-�
 )&)&$!��ก�"5
	����
���
ก��.& ���-�

ก$�ก���#�����1�2�� 8 3��
� �����)&)&$!�&
	�ก��������
ก�� 3��
)&!�1.����
���
ก�����
.1�
������� 3 �� �V�%	P� 8 �"
��5 
                  2.1.3.1 )&!�1.����
!�
 (direct benefits)  	��
-�
  #$����.& 1�$ก�����)&$!���
��
!�
��ก���
ก�� 
                  2.1.3.2  )&!�1.����
���� (indirect benefits) 	��
-�
 �*&�����
#$����.& 1�$ก�����
����+$����5���กก$�ก���#�����1�2�� 8 	�2�����)&!�1.������ก$���5�V�
��ก���
ก�� 
                  2.1.3.3  )&!�1.����������!"�!� (intangible benefits) �2� )&!�1.��������ก^%��*�
��������!"�!�.& !������������
�ก ��2��
��ก����ก��
�ก���� 	������'�#
�0��
)&!��.��
�� �V���5 �/�� ก���+$��	�2�ก��&�����.��"� ก��+"ก)���	
���%� �����
��&� �����
/��$! .& 
)&ก� �1����)&V�� !��
 8 .!��
��
��ก(!�� ก(!��
��ก��+
�
��!�������ก��%	����������� 
��
!�
	�2���
�����2�� 8 ก(!�� �+2��%	�#���&��
ก"1�"!-'�� #
�0��
ก���$���� 	0���
ก������'�

� %/���"+
�ก����
��
���� #$�7$V�+ 
        2.1.4  .���$��ก��
�ก"1ก���"������'�������
���
ก�� 

ก��!"�#$�%����� �&2�ก���
ก��%����
ก��	���
�+2����&
�'� ��5��
*�ก"1�����'�������

���
ก���"5� 8 (project worthiness) �����'�������
���
ก���"������กก������
1���
1ก"�� 	���

!���'� (cost) .& )&�� �
/�0 (benefit) ��
���
ก���"5
%��*���
ก���$���� 	0���
ก���+2��
+$���,������	�� #� .& ��������������"5
��
����ก���
$�.& ��
��������Wก$� .!��� ��(� 
������#�%��
*�������� �"�	�2��"1)&�� �
/�0.& !���'���
���
ก���	&���"5����	�2����.& 
�
��
�� -��	�ก#����-� 1'.& �"�)&�� �
/�0.& !���'���
���
ก����������/$
��$��,���ก��
�$���� 	0���
ก��ก(� ������!���$7���
ก���$���� 	0!���'�.& )&�� �
/�0 (cost-benefit 
analysis:CBA) .!�-��	�ก�+�

!���'������"5����#����-� 1'.& �"���������/$
��$��,��� %��, ���
)&�� �
/�0��
���
ก���������"�	�2�
�ก����"���ก������!"��
$����.&�� ก���$���� 	0���
ก��
� !��
���"
�$7���
!���'�#"�e�7$V�+ (cost effectiveness) ��
ก���$���� 	0���%/����
!�4�#'�(least-
cost analysis) (/*/�+ ,2540:70) 
        2.1.5  .���$�ก���$���� 	0!���'�.& )&�� �
/�0 

!"�/�5�"������'�������
���
ก��!��
 8 ������#4��"P�
��
��ก!��ก��!"�#$�%����� �"1
	�2��^$�#7���
ก�����ก4�&"
+$���,��
*� 	�2��4���%/�#4�	�"1�����ก,i0ก��!"�#$�%�%�ก��&
�'� 
(investment decision criteria) �"5
��5�+�� !"�/�5�"������'�������
���
ก��#����-1�
1�ก������

DPU
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���
ก��.!�& ���
ก���������'�����!��ก��&
�'�	�2���� .& 
"
#����-1�ก%	����1-�
&4��"1
����#4��"P��
���
ก�������ก���
 	&"ก�ก,i0���%/�%�ก��!"�#$�%���
���
ก��.1�
���� 2 
�� �V� �"
��5 
                  2.1.5.1  �ก,i0ก��!"�#$�%��+2��ก��&
�'�.11�����"1�����
��&�  

��ก����*&!���'�.& )&�� �
/�0��
���
ก�� � �4���%/�%�ก�������ก,i0ก��
!"�#$�%���������"1�����
��&�%�ก����ก����"5
��5� %/��ก,i0ก��!"�%��+2��ก��&
�'�.11�����"1���
��
��&� %�ก����ก����"5
��5� %/��ก,i0ก��!"�#$�%�.11�����"1�����
��&� 1 �� ก�� ��
��
� 
 ��&��2��'�����!"�/�5�"������'�������
���
ก�� ��
� 
 ��&��2��'� (payback period) 
	��
-�
 � 
 ��&����)&!�1.��#'�7$��กก���4���$�
�����
ก�� ���������ก"1 ���&
�'���

���
ก��	&"ก�ก,i0��5+$���,���ก�4����� 
 ��&����� ����"1)&!�1.���'�����ก"1�
$�&
�'� 3��

ก��&
�'�%����
ก��%���� 
 �2��'�#"5� 
$�
�� #����-�4���,�"
��5 

� 
 ��&��2��'� = ���%/����
%�ก��&
�'�/)&!�1.��#'�7$!���m 
                  2.1.5.2  �ก,i0ก��!"�#$�%��+2��ก��&
�'�.11��"1�����&� 

��ก����*&!���'�.& )&�� �
/�0��
���
ก�� � -*ก�4���%/�%�ก���4���,	����
!"�/�5�"������'�������
���
ก��!��ก���$���� 	0.11��"1�����
��&� (discounted measures of 
project worth) 3��
����3��
�����$7�����#�"
 (contemporary approach) .& %/�ก"��
��
.+��	&�
�"�� 8 
�� 3 �� ก�� ���.ก� �*&����U��'1"�#'�7$ (net present value:NPV) �"!��#���)&�� �
/�0!��!���'� 
(benefit-cost ratio:BCR) .& �"!��)&�� �
/�0V�
%����
ก�� (internal rate of return:IRR) ��

����
& ���
��"
��5 
                                 2.1.5.2.1  �*&����U��'1"�#'�7$ (net present value:NPV) 

�*&����U��'1"�#'�7$1�
/�5-�
�4����)&�� �
/�0#'�7$�������"1!&��� 
 ��&� ��

���
ก�� 3��
������������&1(-) �����*�
0(0) 	�2�����1�ก(+) ก(��� ��5��
*�ก"1���� (magnitude) ��

�*&����U��'1"���
)&�� �
/�0��� (present value benefit:PVB) 	"ก��ก���
�*&����U��'1"���

!���'���� (present value cost:PVC) ��
���
ก���"5� 

NPV = PVB-PVC 

                                    = ∑∑
== +

−
+

n

t
t

t
n

t
t

t

r

C

r

B

11 )1()1(
 

              = ∑
= +

−n

t
t
tt

r

CB

1 )1(
 

                               = ∑
=

−
+−

n

t

t
tt rCB

1

)1)((  
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                      ��
���   B t   =  )&�� �
/�0��
���
ก��%��m��� t (1��!���m) 
                                   C t   =  !���'���
���
ก��%��m��� t (1��!���m) 
                                    r     =  �"!���$�&�	�2��"!����ก�1�5
����	�� #� (���
& ) 
                                    t     =  � 
 ��&���
���
ก�� (1,2,t,n) 

	&"กก��!"�#$�%����������
ก��� �������	�� #���
��������Wก$�.&ก���
$� �2� -��
	�ก NPV �กก��� 0 	�2����������1�ก .#�
������
ก���"5� 8 �������	�� #����� &
�'� ก&����2� 
�*&����U��'1"���
)&�� �
/�0�����กก����*&����U��'1"���
!���'���� (PVB > PVC) 
                                 2.1.5.2.2  �"!��#���)&�� �
/�0!��!���'� (benefit-cost ratio:BCR) 

�"!��#���)&�� �
/�0!��!���'� �2� �*&����U��'1"���
)&�� �
/�0���	�����

�*&����U��'1"���
!���'���� )&�� �
/�0����ก$���5�!&����
'��
����Wก$���
���
ก��-�
.����� 
��2��ก��&
�'����
ก��)���+����.&�� %��, ���!���'�%�ก��ก��#���
� �ก$���5��v+� %�/��
ก��
&
�'������"5� #���!���'�����
*�%��*����%/����
%�ก���4���$�
�� 3���.3�14��'
�"ก��.& ก��&
�'�
��.���'�ก�,0����#2���#V�+� �ก$���5�!&��/��
��
'��
����Wก$���
���
ก�� (economic life or 
useful life of the project)  ��ก�"5���
�4����ก� .#)&�� �
/�0.& ก� .#!���'���
���
ก�����
�����"1�����!����&�	�2��$������*&����U��'1"� .&���4�������
1���
1ก"��+2��	��"!��#���
)&�� �
/�0!��!���'� (BCR) �"
��5                       
                       

BCR  =  PVB/PVC 

                    =  
∑

∑

=

−

−

=

+

+

n

t

t
t

t
n

t
t

rC

rB

1

1

)1(

)1(
 

                      ��
���   B t   =  )&�� �
/�0��
���
ก��%��m��� t (1��!���m) 
                                   C t   =  !���'���
���
ก��%��m��� t (1��!���m) 
                                    r     =  �"!���$�&�	�2��"!����ก�1�5
����	�� #� (���
& ) 
                                    t     =  � 
 ��&���
���
ก�� (1,2,t,n) 

������
 BCR ���� ����ก"1 1 ��กก��� 1 	�2����
ก��� 1 ก(��� .!�	&"กก��!"�#$�%����
.#�
������
ก���"5��������	�� #�.& �'�����%���
����Wก$� �2� ��2�� BCR ����ก"1 1 	�2������
��กก��� 1  

ก��!"�#$�%����.!�& ���
ก���������'�������
����Wก$�	�2���� ��
���"
�*&���
�U��'1"�#'�7$.& �"!��#���)&�� �
/�0!��!���'�����!"�/�5�"��"5� � #����-#�'�)&������
����

DPU
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#���&��
!��
ก"� �2� 	�ก������
ก���������	�� #�.& �'�������
����Wก$���2��+$���,�!"�#$�
��
�"!��#���)&�� �
/�0!��!���'����
 ก&����2� -���� ��� NPV ��กก��� 0 .&����� BCR ก(�����
��กก��� 1 ���
  
                                 2.1.5.2.3  �"!��)&�� �
/�0V�
%���
���
ก�� (internal rate of return:IRR) 

�"!��)&�� �
/�0V�
%���
���
ก�� �2� )&�� �
/�0�������
& !�����
ก��	�2� 
	��
-�
 �"!����ก�1�5
%��1��ก���$�&�����4�%	��*&����U��'1"�#'�7$��
���
ก�����������ก"1 0 , 
�'���5�4�����!��
�7$1�
�+$���!$�-�
����#"�+"�70 � 	���
�"!����ก�1�5
ก"1������
�*&����U��'1"�
#'�7$ -���"!����ก�1�5
 , � �"1	���
���%/�%��1��ก���$�&�.&�� �4�%	��*&����U��'1"�#'�7$���������
1�ก �"!����ก�1�5
 , � �"1%	��#*
ก���� �4�%	��*&����U��'1"�#'�7$�����&�&
 .& &�&
!����!��1
��������"!����ก�1�5

"
�
�+$��#*
��5�!��&4��"1 %����
���#'�� ���"!����ก�1�5
 , � �"1����4�%	��*&���
�U��'1"�#'�7$���������ก"1 0 +��� 3��
ก(�2��"!��)&�� �
/�0V�
%����
ก��	�2��"!��)&�� �
/�0
!�4�#'�������� �ก$���ก���
ก��	�2��"!����ก�1�5
#*
#'����#����-ก*�
2���&
�'����%����
ก�� ��2��
ก4�	��%	� r �2� IRR .&�� �����
 r � #����-	������กก��.ก�#�ก�� �"
��5 
                       

∑
= +

−n

t
t
tt

r

CB

1 )1(
 = 0 

                      ��
���  B t   =  )&�� �
/�0��
���
ก��%��m��� t (1��!���m) 
                                  C t   =  !���'���
���
ก��%��m��� t (1��!���m) 
                                   r     =  �"!���$�&�	�2��"!����ก�1�5
����	�� #� (���
& ) 
                                   t     =  � 
 ��&���
���
ก�� (1,2,t,n) 
 
2.1  �����	��������ก���	���� 
        ก��+"9��.& #�
�#�$�+&"

�� ก� ���
�$�
���#!�0 ������&
�.& #$�
.��&��� (2536) ���
�4�ก����ก�������	�� #�ก��%/�กx�37���/�!$ %�
��+�	�  +1���)*���"1��&��
����2��

�!0
���3&��%/�กx�37���/�!$� �����%/����
����� ��, 130,000 1��!���"� .& V�� ��ก�1�5
%��"!��
���
&  12 !���m����ก$���กก��ก*��
$��4�����"
ก&���3��
� ����"1)&!�1.����กก���� 	
"�!���'�
��
�����/25��+&$
 ��ก��������.!ก!��
� 	���
������
�54��"����3&.& กx�37���/�!$� ���
)&!�1.���"
��5 �*&����U��'1"�#'�7$ (NPV) ����ก"1 70,256.72 1�� , �"!��#���&���� 12% �"!��
)&!�1.��ก��&
�'� (IRR) ����ก"1 21.02% �"!��)&!�1.�����%/����
 (BCR) ����ก"1 1.36:1 
�"!��#���&���� 12% .& ��� 
 �2��'� 5 �m 7 ��2�� 

DPU
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        �#�$��"ก�$z  �"���0#�� (2539) �����ก�������	�� #���
ก��%/�กx�37���/�!$#4�	�"1ก��
��#�
 �+2����ก�����������������
ก��%/�กx�37���/�!$%�ก����#�
%�+25�����"
	�"�	&"ก%� V��
! �"���ก 3 �"
	�"� �2� /&1'�� v �/$
����.& � 
�
 +1��� )*�����4�ก��&
�'���"1��&��
�
���2��

�!0��%/�กx�37���/�!$�"�� �#�
���%/����
����� ��, 130,000 1��!���"�.& �$�V�� 
��ก�1�5
%��"!�����
&  12 !���m )&!�1.����������กก���� 	
"�����/2���+&$
  ��ก�����/25��+&$
���
.!ก!��
ก"�� 	���
กx�37���/�!$�"�ก"1�54��"����3& ��
)&!�1.��ก��&
�'� (IRR) ����ก"1 
33.47 �*&����U��'1"�#'�7$ (NPV) , �"!��#���&� 12% ����ก"1 147,758.13 1�� �"!��)&!�1.��
���%/����
 (BCR) ����ก"1 1.935:1 .& � 
 ��&��2��'�����ก"1 4 �m 7 ��2�� 
        �$�
��"P  �$�/�
��,� (2541) �����ก����
�&2�ก�/25��+&$
����	�� #�#4�	�"1��.���54��"����3&
%�
��
�!0 %�ก�,���
ก��%/�กx�3 CNG �����/25��+&$
��.���54��"����3& ก�,���ก���-
�!0
��
#���� �4���
��
 �#�ก. +1��� �*&����U��'1"���
���%/����
����"5
��
����ก���
$�.& 
��
��������Wก$���
�-
�!0��
#���� �4���
���%/��54��"����3&�����/25��+&$
 �����!�4�ก����-
�!0
��
#���� �4���
���%/�กx�3 CNG �����/25��+&$
 �"5
��5��2��
��กก���� ��$����%/����14��'
�"ก����

�-
�!0��
#���� �4���
���%/�กx�3 CNG �����/25��+&$
������#*
ก����-
�!0��
#���� �4���
���%/�
�54��"����3&�����/25��+&$
 .!���2��+$���,����%/����
���%�ก�,�������������14��'
�"ก�� )&ก��
�$���� 	0�"5
ก���
$�.& ��
����Wก$� +1��� �*&����U��'1"���
���%/����
�"5
ก���
$�.& ��

����Wก$���
�-
�!0��
#���� �4���
���%/�กx�3 CNG �����/25��+&$
�����!�4�ก����-
�!0��
#��
�� �4���
���%/��54��"����3& �����/25��+&$
 
        +���  #�
��
 (2548) �����ก�����������������
����W��#!�0���
ก��ก��%/�กx�3
7���/�!$�"�%��-
�!0��
#���� �4���
��
1�$�"���#�
 �4�ก"� ������#����
ก����$��-!��.��
���กx�37���/�!$��
1�$�"� �!�. �4�ก"� (�	�/�) ก4�	����
'���
ก������ก"1 10 �m %/��"!���$�&�
���
&  12 +1��� ��
����ก���
$����
ก�����*&����U��'1"�#'�7$ (NPV) ����ก"1 13,573,707.60 1�� 
�"!��#���)&�� �
/�0!��!���'� (BCR) ����ก"1 1.71 �"!��)&!�1.��V�
%����
ก�� (FIRR) 
����ก"1 ���
&  29.53 .& � 
 ��&��2��'� ����ก"1 4 �m 6 ��2�� .& ��
��������W��#!�0���
ก��
���*&����U��'1"�#'�7$ (NPV) ����ก"1 11,306,388.59 1�� �"!��#���)&�� �
/�0!��!���'� (BCR) 
����ก"1 1.83 �"!��)&!�1.��V�
%����
ก�� (FIRR) ����ก"1 ���
&  30.75 .& � 
 ��&��2��'� 
����ก"1 4 �m 6 ��2�� 3��
���
ก����5�����������������
����W��#!�0�	�� #�!��ก��&
�'� 
 
 

DPU



 

 

����� 3 

��	��
���
�����
 
3.1  �����ก� �����
�ก����������
��� 

 ก�������	
���
�������ก������
 ��	 ��
��������� �����ก
������  !"�
	����#���
��
�� 
������ �$����������		ก%&'� 2 &� %)
��*�+ ��	 &� %)
��#���ก����� &� %)
��
&� �,��,������ #,����$&� %)
��#���ก�������������	
-� 5 &� %)
/��
ก�� ��	 1. �� 6 ��	  2. 
��$�# 3. ���-�  4. ��ก� $   ��  5. ��%ก5�  #,����$�������
� 
,�ก����%��� ��%6��  ���-� 78��%&'�
&� %)
��#���ก��� %
����9� 

 

3.2  	 �!����!����"�#"$ก������
 

        3.2.1 :�	�-���ก��/�/�&����
������	�
�9�:�	�-�%����	�
��� 
        3.2.2 :�	�-�&� ������ &� ����ก��������:	���
��������ก
������    !"�
	����#���
��
�� 
������  �����

���
;��ก��$�<=��
� 
        3.3.3 
>?@�
��%A�?BA�#�����A�ก��� 
 
3.3  ��
�ก��	ก%�������&#��'� 

ก��A8ก?�����%&'�C&C/�:	�D���ก�����กE�7;�������	�/����
���:	� ���ก

������  !"�
	����#���
���� 
������  �����

���
;��ก��$�<=��
�C/���ก��%กF$��$���
:�	�-� /����9 
        3.3.1  :�	�-�&B�)-��  ( primary  data )        %&'�:�	�-�
��C/���กก��#��)�?<� �-�%���
���*��ก��
/�/�&����
������	�
�9�:�	�-�%����	�
����� ���������
��ก��$,������ก?�	�&ก�<�����+ 
        3.3.2  :�	�-�
���
)-��( secondary data )%&'�:�	�-�
��C/���/��	!"�
	����#���
���� 
������  
�����

���
;��ก��$�<=��
� &� ก	$/��
 
                  -  :�	�-��,������
��� 
                  -  :�	�-�&� %)
:	���
��� 
                  -  :�	�-� ��� %/�	� &W 
����
���%:��&� �,�ก�� 
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                  -  :�	�-�� 
 %���&� �,�ก��:	���
������� �����9����%����%:��&� �,�ก�����8� 31 ��.
. 
2552 
                  -  :�	�-�
����	�� ���/(����):	���
������� ��� 
                  -  :�	�-����%$�9
 ��$.,���%$�9
&� ก��)�
�� �����	)�?� ������ &W:	���
������� ��� 
                  -  :�	�-�� 
 
��ก��������:	���
������� �����9����%����%:��&� �,�ก�� ���8� 31 ��.
. 
2552 
                  -  :�	�-����7�	�$,����:	���
������� ��� 
                  -  :�	�-�����9,����%��9	%����:	���
������� ��� 
 
3.4  ก����	 ���)*&#��'� 

�����ก
������  !"�
	����#���
���� 
������ �$����������		ก%&'� 2 
&� %)
��*�+ ��	 &� %)
��#���ก����� &� %)
��&� �,��,������ #,����$�������
� 
,�ก��
��%��� ��%6��  &� %)
��#���ก��� 78������������	
-� 5 &� %)
/��
ก�� ��	 1. �� 6 ��	   2. ��$�# 
3. ���-�  4. ��ก� $   ��  5. ��%ก5�  78��D/
&ก�������������������ก
������ � ��	�
�ก�����
��� 350,000 �8� 400,000 ก�D�%��� ���	 8 &W ����� 
,�ก��:	�$&� ��<��ก����/7�9	���� 

/�
���78��
ก%��กก�������� 78��:�	�-���:	�:	����ก
������ %&'� /����9 
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�����
�� 3.1  &� ������&� %)
��#���ก���  ���ก
������  
�,�/�$ 
 %$�
��� &� %)
�� ���
��7�9	 � 
 %��� 
����	�� ���/�� ���%$�9
 ��$ ���%$�9
&� ก��)�
 �����	)�?� ���
%��� 

1 41-3406 �� 6 ��	 17 ก.
. 2542 9 &W 9 %/�	� TOYOTA - 3,437.91 10992.11 2,200.00  
2 41-5773 �� 6 ��	 31 ก.�. 2551 11 %/�	� HINO XZU423R-HKMTBT3 3,739.17 31,074.94 2,600.00  
3 41-5014 ��$�# 13 �.�. 2548 4 &W 5 %/�	� SCANIA - 4,017.85 167,771.72 3,600.00  
4 41-5426 ��$�# 3 �.�. 2549 2 &W 8 %/�	� SCANIA K94IB4X2 4,017.85 114,807.79 3,600.00  

5(1) 	?-9353 ���-� 8 �.�. 2545 6 &W 8 %/�	� TOYOTA HIACE 1,182.35 10,977.13 1,600.00  
6(2) 	?-9354 ���-� 8 �.�. 2545 6 &W 8 %/�	� TOYOTA HIACE 1,182.35 21,953.19 1,600.00  
7(3) 	�-3640 ���-� 11 ��.�. 2546 6 &W 3 %/�	� TOYOTA HIACE 1,182.35 12,533.98 1,600.00  
8(4) 	�-3646 ���-� 11 ��.�. 2546 6 &W 3 %/�	� TOYOTA HIACE 1,182.35 23,381.64 1,600.00  
9(5) nก-1826 ���-� 20 ก.
. 2547 4 &W 9 %/�	� TOYOTA HIACE 1,182.35 19,256.79 1,600.00  
10(6) n�-2083 ���-� 16 ��.
. 2549 3 &W TOYOTA COMMUTER 1,182.35 21,121.8 1,900.00  
11(7) n�-7039 ���-� 28 ��.
. 2550 2 &W 8 %/�	� TOYOTA HIACE 1,182.35 30,888.76 1,900.00  
12(8) n6-5041 ���-� 22 #.�. 2551 10 %/�	� TOYOTA HIACE 1,182.35 26,715.76 1,600.00  

13 ��-6931 ��ก� $  28 ก.�. 2540 11 &W 11 %/�	� ISUZU - 645.21 7,504.98 4,896.00  
14 �$-6040 ��ก� $  13 �.�. 2542 9 &W 8 %/�	� TOYOTA  967.28 6,866.19 900.00  
15 )?-3834 ��ก� $  2 %�.
. 2544 8 &W 2 %/�	� TOYOTA HILUX 645.21 7,255.67 6,557.60  
16 )�-4069 ��%ก5� 2 ��.�. 2544 8 &W 3 %/�	� TOYOTA COROLLA 645.21 8,831.78 2,492.70  
17 )�-5537 ��%ก5� 9 ��.�. 2544 8 &W 3 %/�	� TOYOTA COROLLA 645.21 9,072.53 2,492.70  


����:!"�
	����#���
���� 
������   �����

���
;��ก��$�<=��
� 
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�����
�� 3.2  &� ����ก����������&� %)
��#���ก��� ���ก
������  
ก�����$��ก�� (%/�	� ��.
. 50 - �.�. 51) ก�����$��ก�� (%/�	� ��.
. 51 - �.�. 52) 

����9,���� ����9,���� 
 

�,�/�$ 
� 
 
�� (&q���$��) 

(< %/�	� ������
� 2552) 
���7�	���
��� 

���
�9���/ �,�������9�
��$��ก�� � 
 
�� 
#���ก��� ����
��� (%���) 

�,�������9�
��$��ก�� � 
 
�� 
#���ก��� ����
��� (%���) 

1 200,132.00 224,054.35 212 25,311.00 23,160.06 55,035.00 181 14,179.00 27,039.57 27,540.00 
2 26,015.00 80.25 - - - - 127 20,978.00 18,599.15 112,892.00 
3 132,609.00 481,536.40 93 15,184.00 24.957.84 181,400.00 158 30,538.00 55,537.48 272,945.00 
4 87,242.00 149,329.74 172 33,298.00 19,466.07 247,000.00 172 29,960.00 23,718.58 213,748.00 

5(1) 294,287.00 229,974.52 316 47,108.00 29,448.20 103,455.00 275 38,665.00 44,888.03 84,290.00 
6(2) 296,171.00 256,755.54 296 41,609.00 24.837.43 129,486.00 307 25,395.00 45,266.12 41,840.00 
7(3) 278,733.00 206,088.93 316 37,546.00 23,260.53 80,490.00 314 36,572.00 47,072.02 66,794.00 
8(4) 332,634.00 231,078.62 522 44,440.00 26,602.95 96,300.00 450 78,028.00 55,809.44 81,778.00 
9(5) 228,061.00 132,974.54 393 43,005.00 29,748.23 98,970.00 349 40,260.00 46,626.06 75,608.00 

10(6) 92,971.00 36,602.44 252 27,987.00 18,618.66 49,360.00 547 70,294.00 34,982.00 30,141.00 
11(7) 72,527.00 16,459.05 12 828.00 15,572.56 41,960.00 269 39,577.00 45,054.87 63,847.00 
12(8) 35,294.00 2,043.55 252 26,764.00 18,618.66 49,360.00 226 21,411.00 21,936.98 21,790.00 

13 243,486.00 46,069.00 262 21,917.00 18,635.63 22,585.00 215 14,734.00 31,937.67 2,760.00 
14 125,395.00 64,998.43 274 12,342.00 19,465.96 2,340.00 346 11,037.00 26,331.03 1,100.00 
15 158,862.00 110,590.17 313 17,532.00 20,364.70 8,900.00 375 14,629.00 37,181.88 3,100.00 
16 206.734.00 182,374.41 757 28,710.00 39,319.00 10,190.00 468 21,236.00 40,488.35 7,100.00 
17 216,716.00 183,710.00 380 27,032.00 30,151.23 11,885.00 491 14,497.00 40,156.38 2,077.00 


����:!"�
	����#���
���� 
������   �����

���
;��ก��$�<=��
� 
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 ��กก����%��� ��D/
������)-�� %���	��%��� �������
������9,����%��9	%����
��#-�
��#�/��
���ก
������ C/���%&'�/����9 

0
100000
200000
300000
400000
500000
600000
700000
800000
900000

 รถ 6 ลอ รถบัส รถตู รถกระบะ รถเกง

����9,����%��9	%����%6���

��	&Wก��A8ก?�

)��
�� 3.1  �#/����
������9,����%��9	%����%6���
��	&Wก��A8ก?� 
�$��� ���
������9,����%��9	%����#-�#�/��	 ���-�78�����,���� 8 ���������9,����%��9	%�������

799,456.84 $�
/&W  ( 47.21% :	����
������9,����%��9	%����
�9���/) /����9�ก��A8ก?���9�8�

,�ก��A8ก?�ก�����กE�7;�������	�/%&'�%��9	%����%6�� :	����-�%
����9� 
        3.4.1  ก��A8ก?�/���ก�����/ 
                  3.4.1.1 ����%��9	%���������/  ��กก��A8ก?�/���ก�����/� �$��� #���������9,����
#,�%�F��-&�����D���%����:89�	
-���	/%��� ��:< 
������กE�7;���������	�:�����
���� �������-ก 
/�������
�� 3.3 /����9���ก��%&���
�� $$�����กE�7;����������� ���������������กก��� 
�����
�� 3.3 �����9,����#,�%�F��-&�� กE�7;������� 

���
�� �����9,����%$�7�� 91 
($�
��	����) 

�����9,����/�%7� 
($�
��	����) 

����กE�7;������� 
($�
��	ก�D�ก���) 

19 �.�.2550 25.69 22.94 8.5 
24 ก.�.2550 25.99 22.94 8.5 
29 ��.�.2550 27.19 24.14 8.5 
26 %�.
.2550 28.39 25.34 8.5 
19 �.�.2550 29.59 25.34 8.5 
02 ��.
.2550 29.19 25.34 8.5 
27 ก.�.2550 28.39 25.74 8.5 
09 #.�.2550 27.59 25.34 8.5 
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�����
�� 3.3 �����9,����#,�%�F��-&�� กE�7;������� (��	) 
���
�� �����9,����%$�7�� 91 

($�
��	����) 
�����9,����/�%7� 

($�
��	����) 
����กE�7;������� 
($�
��	ก�D�ก���) 

22 ก.
.2550 29.19 27.34 8.5 
31 �.�.2550 30.39 28.14 8.5 
23 �.
.2550 31.59 29.34 8.5 
26 ;.�.2550 31.59 29.34 8.5 
30 �.�.2551 31.69 29.14 8.5 
28 ก.�.2551 32.49 29.94 8.5 
22 ��.�.2551 32.99 30.94 8.5 
30 %�.
.2551 35.49 33.44 8.5 
31 �.�.2551 38.99 39.04 8.5 
30 ��.
.2551 41.79 42.64 8.5 
30 ก.�.2551 37.99 37.94 8.5 
29 #.�.2551 36.29 33.04 8.5 
19 ก.
.2551 35.19 30.74 8.5 
30 �.�.2551 28.59 22.84 8.5 
25 �.
.2551 22.99 21.04 8.5 
31 ;.�.2551 20.79 18.34 8.5 
25 �.�.2552 23.59 18.34 8.5 
15 ก.�.2552 26.74 19.59 8.5 
27 ��.�.2552 28.84 22.69 8.5 
29 %�.
.2552 29.54 22.79 8.5 
31 �.�.2552 32.34 25.39 8.5 
20 ��.
.2552 32.94 27.39 8.5 
29 ก.�.2552 34.14 28.09 8.5 


����:  ก��&tD��%���
�����&� %
AC

 
 #,����$�����9,����/�%7�%6���
 ������%/�	� ��.
. 50 �8� �.�. 51 ��  ��.
. 51 �8� ��.
. 50 
��	 30.33 $�
 ��  28.27 $�
 ����,�/�$ 
        

DPU
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78�������9,����/�%7���&q���$��(1 ������
� 53) ��	  27.79 $�
/����  78��������#-�:89� 
%���	%
�
$ก�$ %/�	� �ก���� 2550(22.94 $�
/����) �8� 4.85 $�
 ��  �����D���
��#-�:89�	�ก/��
 
                  3.4.1.2  ก��������-�
��ก����<��
�     �-�A8ก?�C/�
,�ก��A8ก?�ก��������-�
��ก����<��
�
:	�$��?�
���-�78�����$��ก����$#���-�D/
#��� �����������/  �� ������-�78����/��9�� $$���กE�7
;�������	�/%&'�%��9	%�����������������������	C��	
���C� 78��$��?�

���-�A8ก?�C/�
,�ก��%กF$:�	�-� ��	 
$��?�
 �������-�&�����$���  78� ����$��ก����$#���-�D/
#��� �����������/&�����$����� 
ก���%
������� 78�������-���$��?�
 18 ��� (TOYOTA COMMUTER 2.7 vvt-i) �� 
�ก������กE�7
;�������	�/%&'�%��9	%����
�9���/ 78����:�	�-�/����9 
 
�����
�� 3.4  :�	�-����-�
��ก����<��
�:	�$��?�
%	ก��������8�� 

	����ก��#�9�%&��	� 	�
�ก�� 
������ 

� 
 
��%6���
 
��	&W/���(ก�D�%���) กE�7;�������($�
/km) * Gasohol 95 ($�
/km) * 

����������9,����
%��9	%������	&W/��� 

4 &W 98,500 1.18 2.96 175,330 

���� $��?�
 �������-�&�����$��� 
* ���
%��� ����:�
&��ก�9,����%��9	%����:	� &�
. ��%:� ก
�. �� &���<=�  
    < ���
�� 1 ������
� 2553 
          

$��?�
������9�����-�
�9���/ 18 ��� /����9�� &� �
�/����9,����%��9	%����C/�&W�  175,330 
* 18 = 3,155,940 $�
 78��C��%��
����$��?�
��9%
����9� ���$��?�
���-�
�����$��ก����$#���-�D/
#��
� �����������/
�ก$��?�
 ���	������ :#�ก. ����������-�78����/��9�� $$���กE�7;�������	�/%&'�
%��9	%����
�9�#�9� �#/����%�F��8������������:	�ก�����กE�7;�������	�/%&'�%��9	%���� :	�ก�������
�-�
��ก����<��
� 78�������#������ก,�C�%&'�#,���* 
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)��
�� 3.2 �#/����-� TOYOTA  COMMUTER  2.7 vvt-i  ���กE�7;�������	�/%&'�%��9	%���� 
�����     
                 ก��	
����������
 

 
)��
�� 3.3 �#/�$��%�<��/��9����กE�7;�������	�/:	����-�  78����/��9�	
�����/��/ 
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)��
�� 3.4 �#/����-� :#�ก. 78�����กE�7;�������	�/%&'�%��9	%���� %���%/�
�ก�$ $��?�
���-�%	ก��       
                 
���C& 
        3.4.2  ก��A8ก?�/���%
������ ��A�ก��� 
                  3.4.2.1  กE�7;������� 
             กE�7;�������%&'�#��&� ก	$CnD/�����$	� 78��&� ก	$/��
CnD/�%���� 
����$	�%ก�/:89���ก��
�$��:	�7�ก#����������
��	�A�
	
-���D�ก��$���
����&W������ 78��7�ก
#����������%������9� ��	���&� ก	$:	�;���CnD/�%���� ;�������$	�%&'����ก ก��
�$��:	�7�ก
#����������%���	C/���$������	��� ����ก//��:	����D�ก � �&�#)��%&'�กE�7�� �9,����
����
	���&� ก	$%&'�#��CnD/�����$	�%&'����ก 
              กE�7;���������#)�� &ก��� ��#��� %&'�กE�7 D/
� ��#���&� ก	$/��
#��
CnD/�����$	����
���/ C/��ก� ��%
� 	�%
� D&�%�� $��%
� %��%
� %nก%7� |�| ���		��� 
&� ก	$/��
��%
�%��
�	
���%/�
��� 	����กE�7����$	����/	��� + &�	
-�$��� 78��กF:89�	
-�ก�$
��ก?< ก��
�$��:	�7�ก#�������������� ���/
��%&'����ก,�%��/:	�กE�7;������� D/
#�����*�
กE�7����$	�C/�		กC7/� (CO 2 )  CnD/�%��7��C}/� (H 2 S)  C�D��%�� (N 2 ) �� �9,� %&'���� 
D/
#��&� ก	$��9#������
ก		ก��กก�� C/�/��
ก� $��ก����D���
กก��%���	# /�ก%���	
# /�ก�� %��� #�ก�$ก���,�C&���&� D
��� กE�7
����#����#�:	���%
�&����<��ก %��
ก��� 
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กE�7���� ( dry gas ) �����ก��#����#�:	� D&�%�� $��%
� �� ��กCnD/�����$	�%��� ���	
กE�7D7��� %��� %��%
� %nก%7� ��&����<��ก %��
ก��� กE�7��9� (wet gas) 
          กE�7;���������#��&� ก	$
��%&'�&� D
��� %���	����ก� $��ก���
ก
��D���
กกE�7
����� C/�����)�<=����� + 7���#������,�C&���&� D
���C/�/����9 
                                 3.4.2.1.1  กE�7��%
� (C 1 ) ���%&'�%��9	%����#,����$����ก� �#C}}����D�����
	��#��ก����� �,�C&	�/�#����/��
����/��#-� %��
ก���กE�7;�������	�/ #��������%&'�%��9	%����
����
����-���กก�������	��� �กE�7;�������	�/#,����$
��
���� (natural gas for vehicle:NGA) 
                                 3.4.2.1.2  กE�7	�%
� (C 2 ) ���%&'������/�$���ก��	��#��ก���&tD��%���:�9���� 
#������,�C&�������%�F/���#��ก���/���� + %���	�,�C&����&��-&��	C& 
                                 3.4.2.1.3 กE�7D��%�� (C 3 ) �� กE�7$��%
� (C 4 ) D/
กE�7D��%�����%&'�
�����/�$��	��#��ก���&tD��%���:�9����/��
%���%/�
�ก�� �� ��ก�,�%	�กE�7D��%��ก�$กE�7$�
�%
����#�ก�� 	�/�#����%&'�กE�7&tD��%���
�%��� (liquefied petroleum gas:LPG) ���	
��%��
ก���
กE�7������#������,�C&���%&'�%��9	%����������%��	� %&'�%��9	%����#,����$
��
��� �� �����ก��
%���	�D�� C/����
�9�
���,�C&�����D�����	��#��ก���$��&� %)
C/�	�ก/��
  
                                 3.4.2.1.4 CnD/�����$	�%��� (heavier hydrocarbon) 78��	
-���#��� 
��%&'�
:	�%���
��	�<�)-���� ����/��$��
�ก�A %���	����:89����8�&�ก
�	$��
������ #������
ก��ก
CnD/�����$	�
����#��� %&'�กE�7$��
������ %��
ก��� �	�%/�%#
 (condensate) #������,�%��
�
:�#��D/

��%��	���	
��
�	 �,�C&ก����%&'��9,����#,�%�F��-&��	C& 
                                 3.4.2.1.5  กE�7D7���;�������  ������� ��ก���
ก�	�%/�%#
		ก%���	
,�ก��
����:89����8�&�ก
�	$��
���������� ���กF
����CnD/�����$	�%���$��#������/C&ก�$
CnD/�����$	�
����#��� %&'�กE�7 %���	����ก� $��ก���
ก��กD��
กกE�7;����������� 
CnD/�����$	�%�����9กF� �-ก�
ก		ก %��
ก��� กE�7D7���;������� ���	 NGL (natural gasoline) 
�� #��%:��C&
��D��ก�����9,���� %&'�#����#�:	�����)�<=��9,����#,�%�F��-&C/�%���%/�
�ก�$�	�%/�
%#
�� 
��%&'����
,�� ��
 78���,�C&�����	��#��ก���$��&� %)
C/�%���ก�� 
                                 3.4.2.1.6  กE�7����$	�C/		กC7/� %���	����ก� $��ก���
ก���� � �-ก�,�C&

,����	
-���#)��:	��:F� %��
ก��� �9,��:F����� �,�C&�����	��#��ก�����	�	���� 	��#��ก���
�9,�	�/���� %$�
�� �����ก����	�	����� �����ก��:�#�� �,�C&%&'������/�$#,���*��ก��
,�
!�%
�
� %&'���� ($��?�
 &�
. �,�ก�/ (�����), 2545) 
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                  3.4.2.2  ��<#�$����,�%�� :	�กE�7;������� 
                                 3.4.2.2.1  ������������,�%��  (specific gravity) ������������,�%�� :	�กE�7
;������� 78��	
-���#��� 
��%&'�กE�7 (%���		�ก�A = 1) D/
%6���
�����%
��ก�$ 0.6 ���
������� 
	�<�)-���� ����/��%/�
�ก�� กE�7;������� %$�%��
� 0.6 %
��:	�	�ก�A ��ก������������,�%�� 
:	�กE�7;������� 
,����%&'�กE�7
��%$�ก���	�ก�A /����9���ก%ก�/ก������C�� กE�7;�������� 
	�����
��	
ก���กE�7 LPG %��� กE�7;�������� }���ก� ��
 �� �	
:89�%���	$��
�ก�A 
                                 3.4.2.2.2  ���	E	�%
����%$	�� (octane number)  กE�7D7��������	E	ก%
����
%$	�� (RON) &� ��< 96, กE�7 LPG &� ��< 100 �� กE�7;������� ����� octan rating &� ��< 
130 D/
�����	E	�%
����%$	��#-�
��#�/ /����9��8���ก���,�กE�7 CNG �����%&'�%��9	%����
/�
��9,����
%��9	%��������
��� 
                                 3.4.2.2.3  #� ก���� �� ����%&'���? (toxicity) กE�7;������� %&'�กE�7
��C����#� 
C����ก���� ���%���	%ก�/����C��:	�กE�7	��� ก�	���%ก�/	�����
 /����9��,�%&'���	�%���ก�����#���C&
��กE�7 %���	���#�������$�-�C/�%���	%ก�/ก������C��:	�กE�7 &q���$��#��%���
����
�%��������ก����C/��ก�
��ก dimethylsulphide (D.M.S) ��  tertiary butyl mercaptan (T.B.M.) กE�7 CNG %&'�กE�7C������? 
%��� C����#��&� ก	$&� %)
� ก���
������?���
��� 	
���%��� tetraethyl lead 78�����#�	
-���
�9,����กE�/D7��� �����ก%ก�/ก��#��/�&
��C��#�$-�<�กF� 
,����%ก�/กE�7����$	��	�	กC7/� ���C	
%#�

��%ก�/ %��� CO ���	 CO 2 � ��&����<��	
ก���C	%#�

��%ก�/��ก�9,���� �� กE�7 CNG /����9�C	
%#�

��%ก�/��กก�����กE�7 CNG �8�# 	�/ก���ก������9,���� 
                                 3.4.2.2.4  ���������	� D/
���������	��#/��8���<#�$����� #����� :	�
%��9	%���� ���������	�:	�กE�7;���������	���C

&� ��< 1000 BTU/SCF ��ก%&��
$%
�
$ก�$
�9,����กE�7D7������	/�%7� � ��	�%
�
$��&����<:	�กE�7
��������������	�%
�
$%
��ก�$�9,���� 1 
���� 78�����������	�:	��9,����/�%7�����%�F������&� ��< 35,530 BTU/lit /����9� �9,����/�%7� 1 
���� � �����������	�%��9	%����%
�
$%
��กE�7;������� 0.952 Nm 3   

��ก��<#�$���:	�กE�7;�������/��ก�����8���ก��
/�	��,�กE�7;������� %&'�%��9	%����

/�
��9,����%$�7���� �9,����/�%7�����
��� 78�����C/�/�ก�$%����	�
���
����	����#���ก��	�/ 
(compression ratio) #-�ก��� 14:1 %��C���C/�	
�����&� #�
;�)�� ���
�/&q*����)�� 
��	�ก�A

��%ก�/��ก%����	�
�����C/� �� C��%&'���?��	����ก�
 (non-toxic fuel) 
ก%���� ��	�����
��	%���	%ก�/
ก������:	�กE�7 CNG %&'�%��������#)��
��&��A��ก		ก7�%��%$�ก���	�ก�A /����9�%���	%ก�/ก��
����:89� กE�7 CNG � }���ก� ��
	
�����/%�F��	
:89�#-�%$��	�$� ��	�<�)-��#��/�&&� ��< 704  ,C 
78��#-�ก���	�<)-��#��/�&:	��9,����%$�7�� (�9,����%$�7����	�<�)-��#��/�& 315  ,C) �� flammability 
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limit ก�$	�ก�A	
-�������  5-15% D/
&�������� ��ก�������/��ก�������� ก��%��C���� C��
%ก�/:89� &q���$��C/���ก��
/�	��,�กE�7 CNG �����ก�$%����	�
���/�%7�
�ก:��/�� &� %
AC

กF
C/������
����
���C/���ก��
/�	����#������,�กE�7 CNG �����
/�
��9,����/�%7�%���	
�ก�&q*�������9,����/�%7�
��#-�:89� 
                  3.4.2.3  ����%��� #�
��%
����ก��&��$%&���
�%����	�
��������กE�7;�������	�/ 
                   
��
���/�%7�
������������&� %
AC

 #������$�����:��/:	�%����	�
����� 
��ก?< ก��������C/�%&'� 2 &� %)
 ��	 
��
���������%$� (light duty vehicles) �� 
��
������
������ก (heavy duty vehicles) (ก��������� #��%#����������,2536) 
                   
��
���/�%7�������%$� (light duty vehicles) ���	%&'�
���-���กก�������	:	���
���&t�
	�� ���%����	�
���/�%7�:��/ 2200 �8� 2500 �$.7�. � $$��	�%��C�����
�9��$$C/%�F�	��%�F����� 
(direct injection) � $$C	/���
�9��$$;���/� (natural aspirate) �� �$$%
	��D$����� (turbo 
charging) &q�����6�/%��9	%����%&'$�$$/�#
��$��%�	�� (distributor type) 
                   
��
���/�%7����������ก (heavy duty diesel vehicles) &� ก	$/��
��$��
�ก �� 
��
���D/
#�� ���%����	�
���/�%7�:��/ 6000 �$.7�.:89�C& � $$��	�%��C�����
�9��$$C/%�F�
	��%�F������� �$$	��C/%�F�	��%�F����� � $$C	/���
�9��$$;���/��� �$$%
	��D$����� &q��
���6�/%��9	%����%&'��$$%��
���� (inline injection pump) 	����#���	�/ (compression ratio) :	�
%����	�
����$$C/%�F�	��%�F����������	
-�� ����� 16-18 ��	 1 ��:< 
��%����	�
����$$	��C/%�F�	��
%�F����������	
-�� ����� 21-23 ��	 1  
                  3.4.2.4  ก��&��$%&���
�%����	�
���/�%7�%���	���กE�7;�������	�/ 
                   ��กก��A8ก?�����%��� #�ก�����กE�7;�������	�/��
������  �$��� %����	�
���
/�%7�#�����&��$%&���
������กE�7;�������	�/C/� 2 ��;� ��	 ก��/�/�&��%����	�
���%&'��$$��/
� %$�//��
���%
�
��� ก��%����%���� $$%��9	%�������� D/
���
�9�กE�7;�������	�/�� /�%7�
����ก�� ��ก��%��C��� (ก��������� #��%#����������,2536) 
                                 3.4.2.4.1 ก��/�/�&��%����	�
���/�%7�%&'�%����	�
�����/� %$�//��
���%
�
����
กE�7;�������	�/ ��;���9%&'�ก��%&���
��&������
��%
	��D�C/�����#�:	�%����	�
��� ��ก����
/�%7����	�$$��/� %$�//��
ก��	�/ C&%&'�����		�D����	�$$��/� %$�//��
���%
�
� 
,����
&� #�
;�)��%���������	��/�� #�����*�������กD�����D/
���  ก��&��$%&���
�����
ก��
��
#,���*/����9 
                 -  &��$&����-ก#-$�����	����#���	�/�� �-&������	�%��C���
��%��� #� 
                -  &��$&���!�#-$D/
ก����/��9����%
�
��
����6�/%��9	%���� 
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          - &��$&���%��������9�%���	�/ก��#-*%#�
%��9	%����������� C	/�C��C	%#�
 (scavenging) 
              -  �	/&q�����6�/		ก ��/��9�������
%:��ก�$%���
��:�$&q�����6�/ 
                  -  ��/��9�� $$��/� %$�/ 
                -  %&���
����	�9,�� $�
������	�
����:��/��*�:89� 
                    -  ��/��9�����$-%�%�	��
��
�	�,�C	/� 
                    -  ��/��9�%�ก-%�%�	��%���	�����/��:	�กE�7;�������	�/��ก���$�������������/�������� 
                   -  ��/��9����$����กE�7;�������	�/  78��� ��	���&������$����  D/
&� ��<  6  %
��:	�
&������$�����9,����/�%7�%���	�����&����<���������%��9	%����
��%
��ก�� %���  ���$�����9,����/�%7� ��
:��/ 100 ���� � ��	�
/�
�/��
���$����กE�7;�������	�/
����&��������� 600 ���� 
                   -  ��9����กE�7 :�	��	 �� #�
%��9	%��������/��#-� 
                   ��;�ก��/�/�&����9#��������ก�$%����	�
���
�ก:��/ 
�9��$$
������	�%��C����$$C/%�F�
	��%�F����� %���	/�/�&������� ��	����กE�7;�������	�/%&'�%��9	%����	
���%/�
�%
����9� 78��%��
#������,���ก:�9��	�&��$%&���
���
���%���	���#��������กE�7;�������	�/C/�/����	C&��9 
                                            3.4.2.4.1.1 ก��/�/�&�������� 78��������%&'�#�����ก
����	�C/���$ก��
/�/�&�����%��� #�ก�$ก����� กE�7;�������	�/ %���	���ก%��9	
�����#	
��$��#�����	����%&'�
��
��/��9����$����กE�7|
����&��������กก���:	��9,����/�%7�%/���8� 6 %
�� %��9	
��
��%�
���%&'�
��%กF$
#��)�� กF	��� ��	�ก��
%&'�%��9	
��#,����$��/��9����$����กE�7C& �	ก��ก� %#�
��9�
�����#	
C&
���� D���#����:	�������กF��	�/�/�&������:F����:89�%���	��$�9,����ก:	����$����กE�7
�����9,����ก
��ก	�ก/��
  
                                            3.4.2.4.1.2 ก����/��9����$����กE�7 %��9	
�����#,����$��/��9����$����กE�7
��ก�<�:	���
���D/
#��� ��/��9�C�����������78��&�ก�����%&'�%��9	
��$��
�ก#��)�� :	��-�D/
#�� 
��ก�<�:	���$��
�ก� ��/��9�C��
��/���:���:	������ #�����&� %)
	���+ ก����/��9�กF� ������
��ก����ก��		กC&:89�	
-�ก�$��9�
��:	���
��������9�+ 
                                            3.4.2.4.1.3 ก����/��9�� $$#��กE�7C&
��%����	�
��� &� ก	$C&/��

	�&ก�<�#,���*���
#��� %�����������������$���กE�7
��������กE�7 78��%&'������
�����&t/%&t/กE�7��ก
��� ��	�&ก�<�&�	�ก������/�������%ก��� /�$&�	/)�
%��
ก��� burst disk 78��� ��ก������ &��	

กE�7����/��#-�		ก��%���	����/��)�
�����	
-���� /�$%ก��
��ก,���/C�� %���	��ก����#�����
%&���
� burst disk �#��������������กF� #��������ก��C/�	�ก 
 master shut-off valve ���	�������$������ก %&'���/A-�
�ก���:	�ก����$���กE�7C&

��%����	�
����� %���กE�7%:����� ��������/����/��กE�7��/��9�	
-�/��
%���	��/&����<กE�7����� 

DPU
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 กE�7
��		ก����ก���$����กE�7 %&'�กE�7
��������/��#-�%
��ก�$����/��กE�7�����
�,�%&'���	�&��$����/����%���	%
��
��� ��	����ก�$%����	��#�กE�7ก�$	�ก�A (gas mixer or 
carburetor) D/
ก������กE�7%:��C&��%����	�&��$�/����/�� (regulator) 
 %����	�&��$�/����/��
�����,�����
��&q���$�� #�����*�� %&'�����)�<=�:	�&� %
A
	����� �� �����กก������
ก�� ��	 � �/����/�� �$��%&'� 3 :�9��	� ���)�
��	�&ก�<����%/�
�ก�� 
����/��
��%:��	��� #-��8� 20 MPa �� %���	����ก��&��$�/����/����:�9��	�����+ ����� 
�/����%&'�����/��
����,�ก�������/��:	�$��
�ก�A%�Fก��	
 %���	
��� C����กE�7C��		ก��%���	C��
�����/-/
�� gas mixer 
                                            3.4.2.4.1.4  ก����/��9�%����	��#�กE�7ก�$	�ก�A (gas mixer) %����	��#�
กE�7ก�$	�ก�A%&'�	�&ก�<�#,���*	�ก#�����8��
��������	#����� :	�%����	�
���	
�����ก ก��
��� 

,����C/�#����� :	�%����	�
���#-�#�/ #����#�	�ก�Aก�$%��9	%������	�#��,�%#�	 �#�ก��
���ก%����C/�/�ก�	�
��� %:��C&%��C�������	�%��C���:	�%����	�
��� 
                                            3.4.2.4.1.5 ก��/�/�&��!�#-$ %���	���%��� #�ก�$ก�����กE�7;�������
	�/%&'�%��9	%����D/
%&���
����6�/�9,����/�%7�%/�����%&'����%
�
�#,����$��/� %$�/ �����:�9���9%&'�
���!W��	����ก�D����� &� ก	$C&/��
ก��
,� adapter %���	���#�����#��
��,������:	����6�/
�� ��ก�<�
��%����	�
���/�%7�%/��%&'��$$ precombustion chamber � ��	���ก��:
�
��	���	
� �������	�%��C������ก�� ��	�%��C����������� 
                                            3.4.2.4.1.6 ก����/��9�� $$��/� %$�/ %���	��/� %$�//��
���%
�
� � ��	�
�	/&q�����6�/%/��:	�%����	�
���/�%7�		ก ����		ก�$$ adapter %���	���#�������/��9�������
 
(distributor) %:��C&�
�
�� ก��/�/�&��C�����-&�$$
������	� :89�	
-�ก�$�-&�$$:	�ก����/��9�&q��
���6�/%/���� �-&�$$:	�������

��� ��� 
                                            3.4.2.4.1.7 ก��/�/�&��#����-ก#-$ %���	�/	����#���	�/:	�%����	�
���
/�%7�78��	
-�� ����� 17 � 23:1 ��%&'� 12.5 � 5:1 %���	���%��� ก�$ก�����กE�7;�������	�/ 
����	
-���
&� %
AC

%&'�%��9	%����ก���/	����#���	�/ ��	 ก��%����&����<:	���	�%��C���:	�%����	�
��� 
#�����
,�C/� 2 ��;� ��	 ก��/�/�&��!�#-$:
�
��	�%��C����� ก��/�/�&���-ก#-$
,����&������
��	�%��C���%����:89� 78����;�/�/�&���-ก#-$��
�ก��D/

���C& %��� ���
��	ก��/�/�&�� ก����/
&��������	�%��C��� �����;��
	/�9,����%����	� ��ก������/&������ (���		��� %&'�ก� $	ก6�/

�) ��C&���%�F���	�%��C�������	���&������:	��9,����%����	�
�����C& �����,���<��	����#���	�/
%&'�	����#���� �����&���������:	�ก� $	ก#-$��	&������:	���	�%��C���
����/C/� 
                  

DPU
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                                 3.4.2.4.2  ก��%����%���� $$%��9	%����������%����	�
���/�%7� ��;���9%&'�ก��%����
� $$%��9	%�����������ก�$%����	�
���/�%7� D/
C����	�/�/�&��%����	�
��� %��
������/��9�	�&ก�<�
����+ %����%:��C&%
����9� 
,����#�����%��	ก���%��9	%����C/� 2 � $$ ��	 � $$/�%7�%/���� � $$
%��9	%��������� �����/�%7��� กE�7;�������	�/ � $$%��9	%����������9	����#���:	�กE�7;�������
	�/
�����
/�
�/�%7�C����,�ก��� 70% %����	�
���� $$%��9	%��������
���,�����
��&q���$��
����
:�	�,�ก�/$��&� ก��
�����C/�%6�� ก�$%����	�
���
������	�%��C����$$C/%�F�	��%�F������� ���&q��
���6�/�$$%��
����%
����9�  
 � $$%��9	%�������� &����<�9,����/�%7�
��6�/		ก��ก���6�/� �-ก�/�������&����<
��	

��#�/ %��
�%���	���%&'��������/� %$�/���ก�$#����#�:	�	�ก�Aก�$กE�7;�������	�/	
�����
&� #�
;�)���� %���	���#������ $�
������	�C/�%��
��	
��&��
���6�/%
����9� �8�%��
ก��� 
C��F	�	��%�F����� (pilot injection) กE�7� �-ก&�	�
��
�	�,�C	/��#�ก�$	�ก�Aก�	�%:��#-�ก� $	ก#-$ 
78����&q���$��� $$���
กE�7;�������	�/:	�� $$%��9	%���������$��C/�%&'� 2 �$$ ��	 
                                            3.4.2.4.2.1  � $$%��9	%���������$$����$-%�%�	��กE�7 (gas carburetor) 
 � $$%��9	%���������$$����$-%�%�	��กE�7 %&'�� $$���
กE�7;�������	�/ D/
� $$��9 
%
��
���������,�����
�� ก��������
��������� ���ก�$%����	�
���/�%7����������ก �$$ 4 �����  
C/%�F�	��%�F���� กE�7;�������	�/�-ก�#�ก�$	�ก�A
������$-%�%�	��กE�7 %&'�#����#�:	�	�ก�Aก�$
กE�7;�������	�/ C������
�	�,�C	/�%:��#-�ก� $	ก#-$ ���6�/%��9	%����/�%7�� 6�/%��9	%�������
����� &ก������/&����<
��6�/�� %���	%&'��������/� %$�/���ก�$#����#� %���	���กD/
&ก��
%����	�
���/�%7�� ������� 
����9�C	/��� C	%#�
%&t/���	�ก�� (valve overlap) ��	�:������
,����
กE�7;�������	�/$��#���C��	ก��/��
������� ��9 ��C	%#�
�8���&����<CnD/�����$	���	�:���
#-� ก��&��$%&���
�����
ก��
��#,���*/����9  
         -  ��/��9�����$-%�%�	��กE�7 
            -  ��/��9�%�ก-%�%�	�� 
               -  ��/��9���/	�%��
�	���#���$��� 
            -  7�	�$,������ &��$����&q�����6�/ 
                  -  &��$&���ก�Cก:	�ก�������&q�����6�/ 
               - ��/��9����กE�7;�������	�/ D/
&������:	����กE�7;�������	�/��9�� ��	�$����กE�7
;�������	�/
�����������%&'� 70% :	�����������9,����/�%7� %��� ���%/������9,����/�%7���&������ 
100 ���� ������กE�7;�������	�//��
� ��	���&����<กE�7;�������	�/%
�
$%
��ก�$�9,����/�%7� 70 

DPU
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���� ���&������:	�กE�7;�������	�/� ��กก���:	��9,����/�%7� 6 %
�� /����9����กE�7;�������	�/
��	������������ 420 ���� 
             -  ��9����กE�7 :�	��	�� #�
%��9	%���� 
          ��;���9%&'�ก�����กE�7;�������	�/%&'�%��9	%����%#��� �� ����9,����/�%7�%&'�%��9	%����
���ก ก��%��C���%�������D/
�9,����/�%7�
���-ก6�/%:��C&����	�%��C�������ก?< :	�:	�%���%&'�
!	
� %	�
/ ก��%��C���� ��ก�����ก�9,����/�%7�C&
��กE�7;�������	�/78����/����ก�$	�ก�A%:��
������	�%��C�����ก%����	��#�กE�7 (gas mixer) �,����#����#�	�ก�Aก�$กE�7;�������	�/� C��
��ก��/C}%	� �8�������	�<�)-������	�%��C���� #-�:89�%���	���กก��	�/���:	�	�ก�AกF��� ���กF
��
C��#-��	
��� ��/��/C}%	�%��� #����#�	�ก�Aก�$กE�7;�������	�/� �-ก�,�ก�/���%��	���%ก��ก���

��� ��ก��/C}%	�C/� ��ก� 
���%���	��ก��6�/�9,����/�%7�%:��C&�8�� %��C�������9,����/�%7� �� � 
%��C�����$��%�<
�����9,����/�%7�C&�8�%
����9� /����9�ก��%��C���:	�กE�7;�������	�/� C��
#�$-�<���ก��ก D/
%6�� 	
���
�����:< %����	�/��%$� ���	)�� ���:	�%����	�
�����,� &����<
�9,����/�%7�
��6�/%:��C&� ��%��
�%�Fก��	
%
����9� C���	%��
�
��� C&%��C���กE�7;�������	�/C/�

����8�
�9���	�%��C��� ��ก��ก��
/�	��$��� %����	�
����$$
�����กE�7;�������	�/%&'�%��9	%����
����� ��&����<CnD/�����$	��� ����$	��	�	กC7/�#-�ก���ก�����/�%7����	
���%/�
� 
                                            3.4.2.4.2.2  � $$%��9	%���������$$������6�/กE�7 
 � $$%��9	%���������$$������6�/กE�7
�� %&'�Cn-#&W/ D7���	
/������ (hi-speed 
solenoid valve) %&'�� $$���
กE�7;�������	�/ � $$��9���6�/กE�7
�����,����%
��ก�$#-$� �-ก��/��9�

��
�	�,�C	/��ก��ก�$�����C	/�:	����� #-$ ก����$���ก�����
%��9	%����
�9�กE�7;�������	�/�� 
/�%7��-ก��$���D/
��/C�D��D&�%7#%7	�� D/
��$���
�9������ �� &����<ก��6�/
,����
&� #�
;�)��%���������	�%����:89�&� ��< 5% #������/&����<CnD/�����$	�������� 
����9�
C	/��� ��9�C	%#�
%&t/���	�ก�� D/
ก����$�������� 6�/กE�7;�������	�/
��%��� #� 78��กF��
%6�� 	�ก�A$��#���%
����9�
��		กC&
�������C	%#�
 ก��&��$%&���
���
ก��#,���*/����9 
                -  ��/C�D��D&�%7#%7	�� ��$���ก��
,����D/
��$�������� ก��6�/�� &����<ก��
6�/%��9	%����
������
,� 
            -  Cn#&W/-D7���	
/������ 
,�����
��%&'����6�/กE�7;�������	�/ 
         -  %�ก-%�%�	�� (ractuator) ��$���&����<:	�C��F	�	��%�F�����:	����6�//�%7� 
                  -  n	��� %	F}%}'� (hall effect) ��/��$#�**�<	�A�%���:�	%����
� 
                  - ��9�	�ก�A%:�� (air throttle valve)  ��$���&����<�� ������/&����< 	�ก�A%:��
%����	� 
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                -  ���������/����/��
�	�,�C	/� 
              -  ��9�%&t/-&t/
�	���
กE�7;�������	�/ 
              -  ��/&�	�ก���	$%����	�
���#-�%ก����ก�/ 
             -  ��/������/	�<�)-���9,�� $�
������	� 
           -  ���กE�7;�������	�/�,����%
��ก���$$�������$-%�%�	�� 
         -  ��9����กE�7 :�	��	�� #�
%��9	%��������/��#-� 
 � $$%��9	%���������$$������6�/กE�7 %&'��������ก��:�9�#-�
��#�����ก,���/��/	�	�
:	�� $$%���	%��������C/����
&� ก�� ��	�/� /�$��)�� ��,���ก����$$
���������$-%�%�	��กE�7 
�� #������ 
/�
��9,����/�%7�/��
กE�7;�������	�/��#�/#���
��#-�:89���กก��
/�	� �$���
#�����
/�
��9,����/�%7�C/� 70-75% #,����$��
�������ก���������$������ #�����
/�
�C/�
#-��8� 80-85% $����
��ก�������C����$���� D/

��� /�$��)�� C��#-���ก%���	��$$
�����
����$-%�%�	��กE�7 ���	 gas mixer 
                  3.4.2.5 ก��&��$%&���
�%����	�
���%$�7��%���	���กE�7;�������	�/ 
ก�����กE�7;�������ก�$��%����	�
���%$�7�� #������$������-&�$$ก����� CNG C/�%&'� 2 
&� %)
 /����9  
                                 3.4.2.5.1 ��%����	�
���%$�7��
������ $$ CNG %&'�%��9	%����%��
�	
���%/�
�     
(Dedicated CNG) 
 #�����*�������กD�����D/
��� (Original Equipment Manufactured, OEM) 78��
%����	�
���� �-ก		ก�$$������กE�7;�������%&'�%��9	%����D/
%6��  �� � ��ก��		ก�$$������
$����กE�7�-ก��/%กF$	
���%��
$��	
 

DPU
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)��
�� 3.5  �#/���%����	�
���%$�7��
����� NGV %&'�%��9	%����%��
�	
���%/�
� (Dedicated CNG) 
                                 3.4.2.5.2  � $$%��9	%����
�� (Bi-Fuel System) 
%&'�� $$
��#�����%��	ก����9,����%$�7�����	��� NGV %&'�%��9	%���� D/
&��$#�����%��	ก���
%��9	%���� � $$��9��
�9�������กD�����/$��?�
��
�����$�	�ก�������� ��/��9� )�
��� 
 %��� 3 
&W ���	��$ 100,000 ก�D�%��� ���	�,���
���%$�7��%/������/��9�	�&ก�<� NGV %����%��� D/
�$��
C/� 2 � $$ ��	 
                                            3.4.2.5.2.1  � $$/-/กE�7 (Fumigation System) 
                 78��� ��	�&ก�<��#�กE�7ก�$	�ก�A (Gas Mixer) 
,�����
���#�	�ก�A
��%����	�
���
/-/%:��C&ก�$กE�7 NGV ��	����#���
��%��� #�ก�$ก��%��C���ก�	�
��� ���
%:��%����	�
��� � $$��9
%��� ก�$%����	�
���
�����
�9,����/��
����$-%�%�	�� ��� $$��$���ก�����
กE�7 2 �$$ ��	 
                 -  �$$����%&t/ (Open Loop) %&'�� $$����
 LPG 
���
Fก7�����#�����*� 
78��C������/��$���ก�����
กE�7	�%��
�	���#� (ECU) 
                                     - �$$����&t/ (Close Loop) � ����/��$���ก�����
กE�7	�%�F�
�	���#� 
(ECU) %���	��$���ก�����
กE�7���%��� #� 
                                            3.4.2.5.2.2  � $$6�/กE�7 (Multi point injection System ���	 MPI) 
       ����/��$���	�%�F�
�	���#� 
,�ก��&� �������$���ก�����
กE�7%:��#-���	�%��C��� 78��
� 
,����#����� ��ก��:�$:���ก��%��
�ก�$�9,����%$�7����ก
��#�/ � $$��9%��� ก�$%����	�
���
��
���
�9,����%$�7��/��
���6�/ (EFI) &q���$����&� %
AC

 ��$��?�
��
���
��������
���� $$��9
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		ก���,�����
 C/��ก� $��?�
%�	��%7%/#-%$�7� ���-�}�%�	���� (&� %
AC

) $��?�
 D�D
��� 
�	%�	�� &� %
AC

 �,�ก�/ $��?�
 %�}D�%�� %7�#� (&� %
AC

) �,�ก�/ �� $��?�
 ���7-$��� 
�	%�	��# (&� %
AC

) �,�ก�/ 
#���&� ก	$�� ����
��:	���/��/��9�	�&ก�<���/����9 
 -  %����	�&��$�/���/�����	%��
ก��� ���	���กE�7   (Reducer Pressure Regulator)      
,�
����
���/���/��กE�7���%��	ก���/������������-�����		ก�$$C�� %��� � $$���6�/�/��ก 200 $��� 
���%���	&� ��< 2.5 $���%&'���� 
    -D7���	
/������
�����	��� (Solenoid Valve)  
,�����
��/�/กE�7����#-�C����� ���
C&
�� 
Reducer ��:< /�$%����	�
��� ���	%����	�
���/�$ 
      - ��������%���  (Filling Valve Master Shut-Off Valve)    %&'������
����/��9�	
-�� ��������
กE�7��  Reducer %���	#�������/กE�7C/�     ��ก�<�6�ก%6���� � �����ก�<�
����         ก��7�	��7�
Regulator 
       - ������
กE�7 (Gas Injection)  %&'�	�&ก�<����
กE�7      ���������	�ก��:	�%����	�
���
D/
� �� Injection  ����,����#-$:	�%����	�
��� %��� 4 #-$ � �� Injection 4 	�� 

         - %&'�	�&ก�<���$���ก��
,����:	� ก��	���$��� ���	      (Electronic Control Unit) : 
ECU Actuator   ���	   Gas  %���	��$���&����<    ก�����
กE�7���%��� #�     ก�$������	�ก��:	�

%����	�
��� Ingection 
        - ���%���กE�7  (Filling Valve)  
,�����
����$���%���กE�7    � ��/��9��-�ก�$�����        ก��ก��

�	�ก��$:	�กE�7 %���	&�	�ก��กE�7����		ก��ก��
���   %���	C����ก��%���กE�7� ����กก��!�"�&t/C�� 
        -  #���7�$	ก�,������������ (Fuel Selector  ���	 Switch and Gauge)   %&'�#���7��$$ 
2 
�� #,����$%��	ก%��9	%����
����	�ก��C������ %&'��9,�������	กE�7�� &����<กE�7����� 
        - ���&��$&����<กE�7 �� 2 �$$  ��	  Manual Valve � ��ก�$� $$%&t/(Open Loop)  ��  
Actuator Valve ���ก�$� $$&t/ (Close Loop)  #,����$&��$	����ก��C��:	�กE�7
��%:��#-�%����	�
���
�����&����<%��� #�
��#�/   78��� &��$:< 
,�ก���-����:�9��	�ก����/��9��� C���,�%&'���	�&��$
	�ก 
  - ��������กE�7 (Cylinder Valve) %&'������
����/ก�$���กE�7  #�����%&t/&t/C/���/%�F���/
กE�7C/���ก�<�
����	�ก��7�	��7�
�	กE�7    �	ก��ก��9�����
��&� ก	$C&/��
       Pressure Relief 
Device 	�&ก�<�� $�
������	� ��  Excess Flow Valve ��9�&�	�ก��ก��C��ก��$ 
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     - ���กE�7 (NGV Cylinder) �� 4 �$$ ��	 
            1. 
,�����ก%��Fกก��������:F��ก���#-� ����ก?< %&'�
��ก� $	ก 
                2. 
,�����ก%��Fกก��������:F��ก���#-� ����ก?< %&'�
��ก� $	ก&��
�����ก���
� 
,����$����������/��
%�7�� 
�����/��C/�#-��8� 200 $��� (BAR) ������&� ��< 12 กก. 
                3. 
,�����ก%��Fก���������:F��ก���#-�����ก?< %&'�
��ก� $	ก&��
��%��9	���� 
$����������/��
%�7��
�9���/���9,����ก%$�
�����/��C/�#-��8� 200 $��� (BAR) ������&� ��< 
10 กก. 
                4. ���
,�/��
��#/�%�7���$$��%#���
��	%���	�D/
���ก�$��#/�
��C�����D��  
  - ���#��ก��	$��/�����
��������  (Vapor Box)  %&'�ก��	�/�กC	:	�กE�778��� ��	$	
-�
$��%�<
�	
����			ก��ก�����#���
��	
-�����	�%กF$#��)�� /���
��
    %���	&�	�ก��กE�7%:��C&����	�
D/
#��%���	%ก�/ก������กE�7� � $�
		ก�	ก����� 
   -D7���	
/��������/กE�7 (High Pressure Solenoid Valve)  %&'��������/กE�7:< ������

� $$ ��/��9�C��� ��������$����กE�7ก�$���	��� NGV 
  - %ก���/����/��กE�7 (Pressure Gauge)   
,�����
��      $	ก���/��กE�7��� $$�� #��
#�**�<C&
�� Fuel Selector Switch %���	$	ก&����<กE�7
��%���		
-������กE�7 
    - 
�	กE�7 (High Pressure Tubes) %&'�
�	D�� 
��
,�ก��%���	���	� ��������$����ก�$�/
����/��  (Reducer)  %���	�,�%��
�กE�7��ก���C&
��	�&ก�<�       � $$กE�7����	�%����	�
���
��������
�:F��ก���#-�    D/
� ��/��9�C&���%}����
���   %���	&�	�ก��ก��ก� �
�ก%#�
/#�    �� %��������
&�	/)�
�����ก:89��� � ��/��9�
�	กE�7��� /���ก�$
�	%#�
%���	���ก%���
�������	���ก
�	C	%#�
 
  
 #,����$ก��&��$%&���
�%����	�
���%$�7�� %���	���กE�7;�������	�/�-�A8ก?�:	ก�����	
#��%:& %��� ���-�:	����ก
������  !"�
	����#���
���� 
������  �����

���
;��ก��
$�<=��
�%&'���
�����%����	�
���/�%7� 
 ก��&��$%&���
�%����	�
���:	����-�:	����ก
������  !"�
	����#���
���� 

������  �����

���
;��ก��$�<=��
� ���ก��%����%���� $$%��9	%����������%����	�
���/�%7��$$
������6�/กE�7%���	���ก
,����ก,����:	�%����	�
���/� 	����%���/� 	����#�9�%&��	�%��9	%������	
%��� 
��$���ก��
,����/��
ก��	���$���         
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        3.4.3  ก��A8ก?�/���ก��$����� 
 ��กก��A8ก?�/�����A�ก�����9� %&'�:�	�-�
��#������,��������ก��/,�%���ก��/���ก��
$�����D���ก���� ก�<�&��$%&���
�%����	�
���:	����-�%/�� %&'�� $$%��9	%����������%����	�
���
/�%7���	 ���ก���� ก,���/� 
 %��� /����	C&��9 

  1.A8ก?�����%&'�C&C/�:	�D���ก�� 
  ���%���/,�%���ก�� 3 #�&/��� 
 2.#,����������/��9�� $$กE�7;������� 
  ���%���/,�%���ก�� 4 #�&/��� 
 3. �,���
���%:��
,�ก����/��9�� $$กE�7;������� 

  ���%���/,�%���ก�� 3 #�&/��� 
 4.��/��	:	�$	��*��ก��:�#��
��$ก 
  ���%���/,�%���ก�� 1 #�&/��� 
 5.	$��ก���������� $,������ก?�������ก��� 
  ���%���/,�%���ก�� 1 #�&/��� 
  

��ก� 
 %���/,�%���ก��
,�%&'� Gantt Chart 
%��� (#�&/���) 

ก��ก���ก��/,�%���ก�� 1 2 3 4 5 6 7 8 9 10 11 12 

1. A8ก?�����%&'�C&C/�
:	�D���ก�� 

 

                  

2. #,����������/��9 �
� $$กE�7;�������     

 

          

3. �,���
���%:��
,�ก��
�� / ��9 � �  $ $ กE � 7
;�������              

 

  

4. ��/��	:	�$	��*��
ก��:�#��
��$ก                      

 

  

5. 	$��ก���������� 
$,������ก?�������ก���                   
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        3.4.4  ก��A8ก?�/���ก��%��� 
                  3.4.4.1  &��$%&���
�%����	�
���:	����-�%/��%&'�� $$%��9	%����������%����	�
���/�%7� 
�����
�� 3.5  �#/�� 
 %������
����กก����/��9� CNG ก�$%����	�
���/�%7�� $$%��9	%��������              
                     (DDF) 

DDF  (������ NGV :��/ 70 �����9,� 1 �$)  
���/:	�	�&ก�<� � $$/-/กE�7 

(Fumigation) 
� $$6�/กE�7 

(Multi Point Injection) 
����	�&ก�<����	���/��9�  
($�
/���)* 

40,000 60,000 

� 
 
��ก��������	��� (ก�.) 50 100 200 300 50 100 200 300 
	����ก��#�9�%&��	� /�%7�  
(ก�./����) 

10 10 

10 10 

0.5 0.5 

� 
 
��
������ $$%��9	%����
����(ก�.) 
 - ��� /�%7� (����) 
-   ��� CNG (กก.)  0.6 0.6 
����:�
&��ก /�%7� 
 ($�
/����)** 

27.69 27.69 

����:�
&��ก NGV 
 ($�
/กก.)** 

8.50 8.50 

	����ก��&� �
�/ ($�
/ก�.) 0.87 0.87 
&� �
�/���%��9	%������	��� 
 ($�
/���) 

43.73 87.45 179.90 262.35 43.73 87.45 179.90 262.35 

� 
 %������
�� (%/�	�) 30.5 15.2 7.6 5.1 30.5 15.2 7.6 5.1 
** ���
%��� ����:�
&��ก�9,����%��9	%����:	� &�
. ��%:� ก
�. �� &���<=�  
    < ���
�� 1 ������
� 2553 
*  ���
%��� ����%6���
���	�&ก�<� ���	���/��9���ก	-�����B��/�%
��
� &W 2552 

���� $��?�
 ก��&tD��%��
�����&� %
AC

 �,�ก�/ (�����) 
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                                 3.4.4.1.1 ���
���� ���������
��ก��&��$%&���
�%����	�
���       78��� 
,�ก��
&��$%&���
�%����	�
���%&'�� $$%��9	%����������%����	�
���/�%7�    �$$������6�/กE�778���������
	���	����ก:	�����%6���
���	�&ก�<� ���	���/��9���ก	-�����B��/�%
��
� &W 2552 /�������
�� 3.5 78����       
��������  60,000  $�
 78��ก��&��$%&���
�%����	�
���:	����-�%/��%&'�� $$%��9	%����������
%����	�
���/�%7���
����9C��������	����7�ก78��	
-�
������  250,000 $�
 /����9� ���
��
�9���/ ��	 
60,000  $�
/��� 
                                 3.4.4.1.2  ��&� D
���
��%ก�/:89���กก��&��$%&���
�%����	�
��� %���	���#�����
���กE�7;�������	�/
/�
��9,����/�%7�C/� ��	 ก���/��:	����������
/���%��9	%������ก��������
��
���:	����ก
������  �#/�/������� 3.5 78��	����ก��#�9�%&��	��9,����������
��C/���กก��
�,���<��ก:�	�-�:	�!"�
	����#���
���� 
������  �����

���
;��ก��$�<=��
� ��	 11.47 
ก�D�%���/���� #���	����ก��#�9�%&��	�:	�%����	�
���%���	&��$%&���
����� ��	 �9,����/�%7� 0.5 ����
��	กE�7;������� 0.6 ก�D�ก��� ��	 10 ก�D�%���  /�� �����
�� 3.6   
�����
�� 3.6  ��
� %	�
/:	���&� D
���
��ก��%�����ก��&��$%&���
�%����	�
���%/��%&'�� $$          
                     %��9	%����������%����	�
���/�%7� 

%����	�
���
%/�� 

%����	�
���%���	&��$%&���
����� ��
ก�� 

�9,����/�%7� CNG /�%7� ��� 

��&� D
�
�����($�
) 

� 
 
�����(ก�.)%6���
��	&W 326,442.5 326,442.5 326,442.5   
	����ก��#�9�%&��	� 
(ก�./�.,กก.) 

11.47 16.67 20   

&����<������(�.,กก.)��	&W 28,460.55 19,582.63 16,322.13   
������	����
($�
) 27.69 8.5 27.69   
���������
($�
) 788,072.60 166,452.36 451,959.78 618,412.13 169,660.47 

������	� 
 
��($�
/ก�.) 2.41 1.89 0.52 
���
%���:����%��9	%����
������,���<%&'����� < ���
��  1 ��.
. 53 
 ��ก�����
�� 3.6  ��&� D
���
��ก��%�����ก��&��$%&���
�%����	�
���%/��%&'�� $$
%��9	%����������%����	�
���/�%7� 
�9���/ ��	 169,660.47 $�
/&W /����9���&� D
�����	��� ��	 
169,660.47/8 =  21,207.56 $�
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 ก��A8ก?�/���ก��%���%&'�#���#,���*
�����&� ก	$ก����/#����ก����
��  %��� � 
,�
���
��$�8������������:	�D���ก��&��$%&���
�%����	�
��� %���	���#��������กE�7;�������	�/�����
�����������ก�$ก����
��%��
��/ ��กก��A8ก?��� %��� ��:�	�-�:	����
�� ���������
�� 
��&� D
���#����������<�����%&'�C&C/�:	�D���ก��ก��%��� 
,����
��$���
�����������

�� ��&� D
��������� &W 78��ก,���/	�
�:	�D���ก��%
��ก�$ 8 &W 78��%&'�	�
�ก��������
�����ก

������ �����

���
;��ก��$�<=��
� �� �,����
��C/���&��$%&'��-����&q���$�� D/
���	����
/	ก%$�9
��	
�  0.5 78����ก��A8ก?�/���ก��%����#/� /������� 3.7 
�����
�� 3.7  ก���,���<����%&'�C&C/�
��ก��%���:	�D���ก�� ก�<�&��$%&���
�%����	�
���%/��         
                     %&'�� $$%��9	%����������%����	�
���/�%7�/	ก%$�9
 ��	
�  0.5 
&W
�� ���
�� ��&� D
��� �-����&q���$��:	�

���
�� 
�-����&q���$��:	�

��&� D
��� 
0 60,000 - 60,000 - 
1 - 21,207.56 - 21,101.52 
2 - 21,207.56 - 20,995.48 
3 - 21,207.56 - 20,891.56 
4 - 21,207.56 - 20,787.65 
5 - 21,207.56 - 20,683.73 
6 - 21,207.56 - 20,581.93 
7 - 21,207.56 - 20,478.01 
8 - 21,207.56 - 20,376.22 

��� 60,000 169,660.48 60,000 165,896.13 
                                             

 
21,207.56 

 
  

                         0          1           2       3 4            5         6    7           8 
                         60,000 
 

)��
�� 3.6 �#/����)-��ก��C��:	�%�����ก��&��$%&���
�%����	�
���%/��%&'�� $$%��9	%��������                     
                 ��%����	�
���/�%7� 
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NPV  =  -60,000 +  21,207.56 (P/A, 0.5% ,8) 
          = -60,000 +  21,207.56 (7.8229) 
          =   105,896.13 
BCR  =   165,896.13/60,000 
          =  2.76 
IRR 
 
�� i = 30% 
                           NPV = -60,000 +  21,207.56 (P/A, 30% ,8) 
                                    = -60,000 +  21,207.56 (2.925) 
                                    = 2,032.11 
               
�� i = 40% 
         NPV = -60,000 +  21,207.56 (P/A, 40% ,8) 
                                    = -60,000 +  21,207.56 (2.331) 
                                    = - 10,565.18 
        i*= 30% + 2,032.11 (40-30)%/( 2,032.11+ 10,565.18) 
                             =  31.61 % 
 
                                            �-����&q���$��#�
;�(NPV)($�
)                                            105,896.13 
                                            	������&� D
�����	���
��(BCR)                                            2.76 
                                            	�������	$�
�)�
��D���ก��(IRR)��	
�                         31.61 
 ก��A8ก?�� 
 %������
��:	�D���ก��%���	
��$� 
 %���
�����	$�
�#�
;�:	�ก��
/,�%���ก�������%
��ก�$�-����ก����
��:	�D���ก�� 78��ก��A8ก?���/����9 
                            � 
 %������
��  = ���������
��ก����
��/���	$�
�#�
;���	&W 
                                                         = 60,000/21,207.56 
                                                          = 2.83 
                            /����9� � 
 %������
��:	�D���ก��%
��ก�$ 2 &W 10 %/�	� 
��/����
����	� 
 
��78����&� D
���:	�ก����/��9�� $$ก�����กE�7;�������	�/%
��ก�$���
�� 
  ��/����
��  = ���������
��ก����
��/��&� D
�����	ก�D�%��� 
                                                       = 60,000/0.52 
                                                         = 115,384.62 
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/����9� � 
 
��
����/����
�� ��	 115,384.62 ก�D�%���/��� 

 ก��A8ก?�/���ก��%����$��� �-����&q���$��#�
;������%
��ก�$ 105,896.13 	����
��&� D
�����	���
�������%
��ก�$ 2.76 �� 	�������	$�
�)�
��D���ก�������%
��ก�$ 31.61 
�� ��� 
 %������
��:	�D���ก��%
��ก�$ 2 &W 10 %/�	� ��/����
�� ��	 115,384.62 ก�D�%���  ��ก
��ก��A8ก?�D/
���/������/
�9�#��
,����
��$���D���ก��ก��&��$%&���
�%����	�
���%/��%&'�� $$
%��9	%����������%����	�
���/�%7����������������	ก����
��    
 

                  3.4.4.2  ��/7�9	���-�����78����/��9�� $$ก�����กE�7;�������%&'�%��9	%��������  
�����
�� 3.8  ������#/�� 
 %������
����กก����/��9� CNG ก�$%����	�
���%$�7�� 
                     � $$%��9	%����
�� (Bi-Fuel)  

Bi-Fuel  (������ NGV :��/ 70 �����9,� 1 �$)  
���/:	�	�&ก�<� � $$/-/กE�7 

(Fumigation) 
� $$6�/กE�7 

(Multi Point Injection) 
����	�&ก�<����	���/��9�  
($�
/���)* 

38,000 58,000 

� 
 
��ก��������	��� (ก�.) 50 100 200 300 50 100 200 300 
	����ก��#�9�%&��	� Gasohol 
95 (ก�./����) 

10 10 

	����ก��#�9�%&��	� NGV 
(ก�./กก.) 

15 15 

����:�
&��ก Gasohol 95 
($�
/����)** 

31.24 31.24 

����:�
&��ก NGV 
 ($�
/กก.)** 

8.50 8.50 

	����ก��&� �
�/ ($�
/ก�.) 1.8 1.8 
&� �
�/���%��9	%������	��� 
 ($�
/���) 

92 184 367 551 92 184 367 551 

� 
 %������
�� (%/�	�) 13.8 9.6 3.4 2.3 13.8 9.6 3.4 2.3 
** ���
%��� ����:�
&��ก�9,����%��9	%����:	� &�
. ��%:� ก
�. �� &���<=�< ���
�� ������
� 2553 
*  ���
%��� ����%6���
���	�&ก�<� ���	���/��9���ก	-�����B��/�%
��
� &W 2552 

���� $��?�
 ก��&tD��%��
�����&� %
AC

 �,�ก�/ (�����) 
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                                 3.4.4.2.1  ���
���� ���������
��ก������/7�9	���-����� 78����/��9�� $$ก�����
กE�7;�������	�/%&'�%��9	%������ �ก����)�
������ ��������  1,380,000 $�
 (TOYOTA 
COMMUTER vvt-i   %����	�
���%$�7��2.7) 
 

 
)��
�� 3.7  �#/����-� TOYOTA COMMUTER vvt-I %����	�
���%$�7��2.7 
 78������:	����-�/�%7�78��
�����ก
������ ��/7�9	 %���	�������ก����)�
������ ���
�  1,160,330 $�
 ��  %���	������C& 400,000 ก�D�%��� ���	 8 &W #�����:�
C/� ����  250,000
$�
 ��:< 
�����-�78����/��9�� $$ก�����กE�7;�������	�/%&'�%��9	%������ �ก����)�
������             
��������  1,380,000 $�
 �� %���	������C& 400,000 ก�D�%��� ���	 8 &W #�����:�
C/� ����  
400,000 $�
 /����9�������:	�����
�9���/ ��	  
  = (1,380,000 - 1,160,330) - [(400,000-250,000) * (P/F, 0.5% ,8)] 
  = (1,380,000 - 1,160,330) - [(400,000-250,000) * (0.9608)] 
  =  75,550 $�
 
 /����9� ���
��:	�ก��7�9	���-�78����/��9�� $$ก�����กE�7;�������	�/%&'�%��9	%�������� 
����  75,550 $�
              
                                 3.4.4.2.2  ��&� D
���
��%ก�/:89���กก�� ��/7�9	���-�����  78����/��9�� $$ ก��
���กE�7;�������%&'�%��9	%�������� ��	 ก���/��:	����������
/���%��9	%������ก����������
���
:	����ก
������  �#/�/������� 3.4 78��	����ก��#�9�%&��	��9,����������
��C/���กก���,���<
��ก:�	�-�:	�!"�
	����#���
���� 
������  �����

���
;��ก��$�<=��
� ��	 11.47 ก�D�%���/
���� #���	����ก��#�9�%&��	�กE�7;������� 15 ก�D�%���/ก�D�ก��� /������� 3.9 

DPU
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�����
�� 3.9 ��
� %	�
/:	���&� D
���
��ก��%�����ก����/7�9	���-�����78����/��9�� $$ก�����  
                   กE�7;�������%&'�%��9	%��������              

���-�%/�� ���-����� ��
ก�� 
�9,����/�%7� กE�7;������� 

��&� D
������($�
) 

� 
 
�����(ก�.)%6���
��	&W 326,442.5 326,442.5  
	����ก��#�9�%&��	�(ก�./�.,กก.) 11.47 15  
&����<������(�.,กก.)��	&W 28,460.55 21,762.83  
������	����
($�
) 27.69 8.5  
���������
($�
) 788,072.60 184,984.06 603,088.54 
������	� 
 
��($�
/ก�.) 2.41 0.57 1.84 
 ��ก�����
�� 3.9  ��&� D
���
��ก��%�����ก��&��$%&���
�%����	�
���%/��%&'�� $$
%��9	%����������%����	�
���/�%7� 
�9���/ ��	 603,088.54 $�
/&W /����9���&� D
�����	��� ��	 
603,088.54/8 =  75,386.07 $�
 
 ��กก��A8ก?���%��� ��:�	�-�:	����
�� ���������
�� ��&� D
���#����������<�
����%&'�C&C/�:	�D���ก��ก��%���
,����
��$���
�����������
�� ��&� D
��������� &W 78��
ก,���/	�
�:	�D���ก��%
��ก�$ 8 &W �� �,����
��C/���&��$%&'��-����&q���$�� D/
���	����/	ก%$�9

��	
�  0.5 78����ก��A8ก?�/���ก��%����#/� /������� 3.10 
 
�����
�� 3.10  ก���,���<����%&'�C&C/�
��ก��%���:	�D���ก�� ก����/7�9	���-�����78����/��9�             
                       � $$ก����� กE�7;�������%&'�%��9	%��������  /	ก%$�9
 ��	
�  0.5 
&W
�� ���
�� ��&� D
��� �-����&q���$��:	�

���
�� 
�-����&q���$��:	�

��&� D
��� 
0 75,550 - 75,550 - 
1 - 75,386.07 - 75,009.13 
2 - 75,386.07 - 74,632.20 
3 - 75,386.07 - 74,262.81 
4 - 75,386.07 - 73,893.42 
5 - 75,386.07 - 73,524.03 
6 - 75,386.07 - 73,162.18 
7 - 75,386.07 - 72,792.78 

DPU
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�����
�� 3.10  ก���,���<����%&'�C&C/�
��ก��%���:	�D���ก�� ก����/7�9	���-�����78����/��9� 
                       � $$ก����� กE�7;�������%&'�%��9	%��������  /	ก%$�9
 ��	
�  0.5 (��	)          

8 - 75,386.07 - 72,430.93 
��� 75,550 603,088.54 75,550 589,707.53 

75,386.07 
 
 

                      0           1              2        3 4              5          6    7             8 
                           75,550 
 

)��
�� 3.8 �#/����)-��ก��C��:	�%�������/7�9	���-�����78����/��9�� $$ก�����กE�7;�������%&'�                   
                   %��9	%�������� 
 
NPV  =  -75,550+  75,386.07 (P/A, 0.5% ,8) 
          = -75,550+  75,386.07 (7.8229) 
          =   514,157.53 
BCR  =   589,707.53/75,550 
          =  7.8 
IRR 
 
�� i = 80% 
    NPV = -75,550+  75,386.07 (P/A, 80% ,8) 
                               = -75,550+  75,386.07 (1.2387) 
                               = 93,380.72 
 
�� i = 100% 
   NPV = -75,550+  75,386.07 (P/A, 100% ,8) 
                              = -75,550+  75,386.07 (0.996) 
                              = -465.47 
                           i*= 80% + 93,380.72 (100-80)%/( 93,380.72+ 465.47) 
                              =  99.90 % 
 
                                            

DPU



 40 

                                            �-����&q���$��#�
;�(NPV)($�
)                                     514,157.53 
                                            	������&� D
�����	���
��(BCR)                                      7.8 
                                            	�������	$�
�)�
��D���ก��(IRR)��	
�                   99.90
 ก��A8ก?�� 
 %������
��:	�D���ก��%���	
��$� 
 %���
�����	$�
�#�
;�:	�ก��
/,�%���ก�������%
��ก�$�-����ก����
��:	�D���ก�� 78��ก��A8ก?���/����9 
                            � 
 %������
�� = ���������
��ก����
��/���	$�
�#�
;���	&W 
                                                        = 75,550 /75,386.07 
                                                        = 1.00 
                            /����9� � 
 %������
��:	�D���ก��%
��ก�$ 1 &W  
��/����
����	� 
 
��78����&� D
���:	�ก����/��9�� $$ก�����กE�7;�������	�/%
��ก�$���
�� 
  ��/����
�� = ���������
��ก����
��/��&� D
�����	ก�D�%��� 
                                                       = 75,550 /1.84 
                                                       = 41,059.78 
/����9� � 
 
��
����/����
�� ��	 41,059.78 ก�D�%��� 
 
 ก��A8ก?�/���ก��%����$��� �-����&q���$��#�
;������%
��ก�$ 514,157.53 	����
��&� D
�����	���
�������%
��ก�$ 7.8 �� 	�������	$�
�)�
��%
��ก�$ 99.90 � 
 %������
��
:	�D���ก��%
��ก�$ 1 &W  ��/����
�� ��	 41,059.78 ก�D�%��� ��ก��ก��A8ก?�D/
���/������/
�9�#��

,����
��$���D���ก��ก����/7�9	���-�����78����/��9�� $$ก����� กE�7;�������%&'�%��9	%��������   
�
����-�%/��78������9,����/�%7�%&'�%��9	%����   ���������������	ก����
�� 
 

        3.4.5  ก��A8ก?���ก� 
$��	#�����/��	� 
                  3.4.5.1 #,����$��ก� 
$��	#�����/��	�:	�ก�����กE�7;�������	�/����
���� #����
ก� 
$��%���$�ก ��	 ��ก��ก�����กE�7;�������	�/����
���    � #������/&����<����?
��
%ก�/��กก������9,����/�%7�����
���  D/
����?
��	�ก�A (air pollution)   �� ��ก� 
$)�
�	ก

��%ก�/��กก������9,����/�%7�����
��� &� ก	$/��
 
                                 3.4.5.1.1  C�D��%��		กC7/� (NO x ) 		กC7/�:	�C�D��%�������
�-&�$$    
%��� C�D��%���	�	กC7/� (NO) �� C�D��%��C/		กC7/� (NO 2 ) 78��� #����ก� 
$
��%&'�
	�����
��	#�:)�� D/
� %&'�#�%���:	�D��&	/78��	��� 
,����%#�
�����C/���    
��%ก�/	�ก��
� ��
%��	���	���� �������	�ก/��
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                                 3.4.5.1.2 !�"�� 		� (PM) 78��!�"�� 		�
����:��/%#������A-�
�ก��� 0.5-5   
C���	�� %&'�#�%���:	�ก��%�F$&"�

��%ก��
�ก�$
��%/����
�� %��� ก����
����/:�/ %�F$����	ก 
C	    
�9���9%���	�����ก&	/�-ก
,���
 
                                 3.4.5.1.3  ����$	��	�	กC7/� (CO) กE�7��9� %:��C&
,�&��ก���
�ก�$n�D�Dก$��
��%��	/78��	��� ก�	���%ก�/	�����
��	#�	�C/� %���	���กก��:�/	ก7�%�� D/
� &��ก�	�ก��   
&�/��� 78�%A��� 	�%��
� &�/%���	
������ ����/�%&'��9,��� 	�	���� 
                                 3.4.5.1.4 CnD/�����$	� (HC)    ��ก��ก� ��
		ก#-�	�ก�A���-&:	�%����� 
��ก��}���ก� ��
C&��	�ก�A78��� #������	� $$ก����
��:	�#���������� 
                  3.4.5.2 ��กก��A8ก?�����
�� 
/�	���ก���
����
���
�9����� ����&� %
A%���	
%&��
$%
�
$&����<��#����กC	%#�

��%ก�/��ก%����	�
���
�����กE�7;�������	�/ก�$   %����	�
���
��
���%��9	%����&� %)
	��� ����
� %	�
//����9 
                                 3.4.5.2.1 ก��A8ก?�:	� West Virginia University   #���B	%���ก�78��A8ก?�
%&��
$%
�
$���%6���
��ก��D/
#��%����	�
���   CUMMINS LTA � 10 
�����กE�7;�������	�/�� 
�9,����/�%7�  �$���  ��D/
#��
�����กE�7;�������	�/��ก��&��	
กE�7����$	��	�	กC7/� 
C�D��%��		กC7/�   �� !�"�� 		� ��	
ก�����
�����/�%7� D/
%6�� !�"�� 		������%6���
%��
� 
0.027 ก���/ก�D�%��� ��:< 
����/�%7������%6���
	
-�
�� 0.965 ก���/ก�D�%���  	
���C�กF��� ��
���
��
���กE�7;�������	�/ ��ก��&��	
กE�7CnD/�����$	�#-�ก�����/�%7� D/
�����%6���
	
-�
�� 5.52 ก���/
ก�D�%��� ��:< 
����/�%7������%6���
	
-�
�� 1.51 ก���/ก�D�%��� 
                                 3.4.5.2.2 ก��A8ก?�:	� The Australian Greenhouse Office 		#%��%��
C/�
A8ก?�%&��
$%
�
$�� NGV ก�$��
������9,����%&'�%��9	%���� �$��� ��
�����กE�7;�������	�/#�����
�/กE�7����$	��	�	กC7/�C/��8���	
�  50-80 �/กE�7C�D��%��C/		กC7/�C/� ��	
�  60-90 �/
กE�7CnD/�����$	�C/� ��	
�  60-80 #���!�"�� 		���9��
$� C����!�"�� 		�&��	
		ก�� 
 
 
 
 
 
 
 
 

DPU



 

 

����� 4 

��ก
��
ก�
    

         ก����ก����	
��

���ก����ก������������������ก�����������������ก������ก��ก��
� �ก!�"#��� �$�%	����&$'� (%��)�ก*��+�,�� -.�*%����/&���
0���*��+�,�� �,����*��	*
#1�ก��2	34�$*5 "�0��
�������&$'��	
�,�� 8 �	� ก���������,5)�ก����ก����	
��

&7%����ก����ก��
8�*�$�8���������9�%� )'���ก�����ก��,��(�%/��$���ก����ก�� �	�$9%���

 
 

1. ก���	�"7
%�&$'��,�9�������70%�*�$5�
0��	2���
0*��+70%� �ก!�"#��� �$�%	�������
���	� 
100% 

2. ก��� ��&$'��
0��	2���
0*����70%�*�$5�+70%� �ก!�"#��� �$�%	���9�
�?@,������������(����
�ก
0*�(�%� 

3. �9�2���1��	ก��(%��&$'������
0� ��
���	��
�"�����&$'��,�9�
0� �ก!�"#��� �$�%	���9�
����
�$ก$9��ก	� 

4. ก��,���,�%�*1����ก�� 8 �C $��%�*1ก��� �����&$'�(%��)�ก*��+�,�� �,����*��	*
#1�ก��2	34�$*5 

5. ก��,���,��)�ก*��+�,�� -.�*%����/&���
0���*��+�,�� �,����*��	*#1�ก��
2	34�$*5 ��9�
ก�����
0*���������������*
 

6. ก��,�������
���	��
�"���9�ก	2 27.69 2��/��$� 
7. ก��,������ก!�"#��� �$�%	���9�ก	2 8.5 2��/ก���ก�	� 
8. ก��,��%	$��ก��/�
����7%��
���	��
�"�(%��&$'� �)�ก*��+�,�� -.�*%����/&���
0���

*��+�,�� �,����*��	*#1�ก��2	34�$*5 ��9�ก	2 11.47 ก�����$�/��$� 
9. ก��,��%	$��ก��/�
����7%�ก!�"#��� �$�%	�(%��&$'� �)�ก*��+�,�� -.�*%����

/&���
0���*��+�,�� �,����*��	*#1�ก��2	34�$*5 ��9�ก	2 15 ก�����$�/ก���ก�	� 
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4.1  ������������
�ก
����� 
 ��กก����ก������ก������(%������� ��ก��� �ก!�"#��� �$�%	����&$'�(%�
�,����*��	*#1�ก��2	34�$*5 "�0��
 2 ก�3
 �7%  
 1.  ก����	2���
0*����70%�*�$5(%��&$'�����������22� 7
%�+����9�������70%�*�$5�
�"�  
 2.  ก���	�"7
%�&$'��,�9 "�0�$��$	
���22ก��� �ก!�"#��� �$������ 7
%�+�������      +2�9��

�����1���9�$9%ก�����1��	
�/%�ก�3
�$9�
�����$ก$9��ก	� �	� $�����
0 4.1 
$�����
0 4.1 �/��(�%�$ก$9��(%�ก�����1�ก��� �ก!�"#��� �$�%	��� 2 ก�3
 
ก�3
 $���1�

(2��) 
)�����* �5 

(2��/�C) 
NPV BCR IRR ��*����� 

�7��1�(�C) 
�1��1���1� 

(km) 
1 60,000 21,207.56 105,896.13 2.76 31.61 2.83 115,384.62 
2 75,550 75,386.07 514,157.53 7.80 99.90 1.00 41,059.78 

 
 ��ก$�����
0 4.1 ��70%+����3���ก�	 �
 

�	�$9��U +2�9� ก�3
 ก���	�"7
%�&$'��,�9"�0�
$��$	
���22ก��� �ก!�"#��� �$������ 7
%�+�������   �
�����1���9�$9%ก�����1���กก�9� �$9ก��
�	�"7
%�&$'��,�9"�0�$��$	
���22ก��� �ก!�"#��� �$������ 7
%�+��������	
�,�� ����ก�����1��
0/'� %
ก
�	
�*	��
�&$'�2��/9��*	�/����&� ����%
ก�����กก�9� 4 �C �	� $���� �
0 4.2  
$�����
0  4.2 �/��(�%�'��&$'�(%��)�ก*��+�,�� 3 +.�. 53 
�	��
0 ��(���2
*� �	��
0"7
% ��*���� 

3 +.�. 53 
�C�
0�����,�9�* �C�
0�����,�9�* 

��
*2�C�?��12	� 
1 %�-9353 8 $.�. 45 325,772 2553 0 
2 %�-9354 8 $.�. 45 326,155 2553 0 
3 %,-3640 11 �
.�. 46 310,422 2554 1 
4 Wก-1826 20 ก.*. 47 267,213 2555 2 
5 W�-2083 17 +.�. 49 123,586 2557 4 
6 W�-7039 30 ��.*. 50 118,320 2558 5 
7 WX-5041 22 /.�. 51 74,099 2559 6 
8 W�-8592 2 ��.*. 53 - 2561 8 
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 ��ก$�����
0 4.1 ��*������7��1�(%�ก����	2���
0*����70%�*�$5(%��&$'�����������22
� 7
%�+����9�������70%�*�$5�
�"� �7% 2.83 �C �	��	
�ก�� ��	2���
0*����70%�*�$5(%��&$'���������
��22� 7
%�+����9�������70%�*�$5�
�"� ��$�%����
0*� ���&$'� "�0��
%�*1ก��� ������กก�9� 2.83 �C 
 ��ก����	2���
0*����70%�*�$5(%��&$'�����������22� 7
%�+����9�� �����70%�*�$5�
�"�
���ก���	�"7
%�&$'��,�9"�0�$��$	
���22ก��� �ก!�"#��� �$������ 7
%�+������� /����&,�������
��ก��� �#��� �$�%	� �,��,���/�ก	2�2�����3 ���%�*1ก��� ���� �,��
�����1���9�/'�/1�  �7%
��	2���
0*����70%�*�$5(%��&$'�����������22� 7
%�+����9�������70%�*�$5�
�"� ���&$'�"�0��
%�*1ก��
� ������กก�9� 2.83 �C ��70%&����*����,�7%�C�
0$�%����,�9�* ������ก���	�"7
%�&$'��,�9"�0�$��$	
���22
ก��� �ก!�"#��� �$������ 7
%�+������� ��� �	�"7
%�&$'��,�9"�0�$��$	
���22ก��� �ก!�"#��� �$�����
� 7
%�+������� ���&$'�"�0��
%�*1ก��� ���� ��%*ก�9� 2.83 �C    "�0��
�������	�$9%���

 
$�����
0 4.3 �/��������ก��� �ก!�"#��� �$�%	����&$'�(%��)�ก*��+�,�� 
�	��
0 ��(���2
*� �C�
0���ก����	2���
0*����70%�*�$5

(%��&$'�����������22� 7
%�+����9�� 
�����70%�*�$5�
�"� 

�C�
0ก���	�"7
%�&$'��,�9"�0�$��$	
�
��22ก��� �ก!�"#��� �$�����

� 7
%�+������� 
1 %�-9353 - 2553 
2 %�-9354 - 2553 
3 %,-3640 - 2554 
4 Wก-1826 - 2555 
5 W�-2083 2553 2557 
6 W�-7039 2553 2558 
7 WX-5041 2553 2559 
8 W�-8592 2553 2561 

 
 ��70%+����3�$���1����)�����* �5(%�����ก���	
�/%� �7% ก����	2���
0*�
���70%�*�$5(%��&$'�����������22� 7
%�+����9�� �����70%�*�$5�
�"� �
$���1� �	��� 60,000  2�� 
)�����* �5 �C�� 21,207.56 2�� ���ก���	�"7
%�&$'��,�9"�0�$��$	
���22ก��� �ก!�"#��� �$�����
� 7
%�+�������  �
$���1� �	��� 75,550 2�� )�����* �5 �C�� 75,386.07 2�� /����&�/���	�
$�����
0 4.4 
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235,602.38 
310,988.45 

386,374.52 
440,553.03 

494,731.54 
548,910.05 

$�����
0 4.4  ก�������3$���1����)�����* �5(%�������ก��� �ก!�"#��� �$�%	�  
                     ��*���������ก�� 8 �C �%ก�2

* ��%*�� 0.5 
�C�
0 $���1� )�����* �5 

/�/� 
�'��9��?��12	�(%�

$���1� 
�'��9��?��12	�(%�

)�����* �5/�/� 
0 391,100 - 391,100 - 
1 75,550 235,602.38 75,172.25 234,424.37 
2 75,550 310,988.45 74,794.50 307,878.57 
3 - 386,374.52 - 380,617.54 
4 75,550 386,374.52 74,054.11 378,724.30 
5 75,550 440,553.03 73,683.92 429,671.37 
6 75,550 494,731.54 73,321.28 480,136.96 
7 - 548,910.05 - 530,027.54 
8 75,550 548,910.05 72,588.44 527,392.78 

��� 844,400 3,352,444.54 834,714 3,268,873 
 
 
 
 
 
 
 
 

 
 
 

                      0           1            2       3   4           5           6    7             8 
                               75,550  75,550                75,550   75,550   75,550                75,550                                                                         
          391,100                             
 

8�+�
0 4.1 �/���)�8'��ก���,�(%�����(%�������ก��� �ก!�"#��� �$�%	� 
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NPV  =   -844,400 +  3,268,873 
          =    2,424,473 
BCR  =   3,268,873/844,400 
          =  3.87 
IRR 
 �
0 i = 10% 
         NPV = -844,400 +  3,402,241.29 (P/F, 25% ,8) 
                                    = -844,400 +  3,402,241.29 (0.4665) 
                                    =   742,745.56 
 �
0 i = 20% 
         NPV = -844,400 +  3,402,241.29 (P/F, 30% ,8) 
                                    = -844,400 +  3,402,241.29 (0.2326) 
                                    =  -53,038.68 
           i*= 10% + 742,745.56 (20-10)%/( 742,745.56+ 53,038.68) 
                              =  19.33 % 
 
                                            �'��9��?��12	�/1�#�(NPV)(2��)                                     2,424,473 
                %	$��)�����* �5$9%$���1�(BCR)                                      3.87 
                                            %	$��)�$%2���8�*������ก��(IRR)��%*��                  19.33 
 
 ��ก�	 �
 

�	��	
�/�� �7% NPV = 2,424,473, BCR = 3.87 ��� IRR = 19.33 �/���,�
�,̂��9� ก��� �ก!�"#��� �$�%	����&$'�(%��)�ก*��+�,�� �� 9����ก �7% ��	2���
0*�
���70%�*�$5(%��&$'�����������22� 7
%�+����9�������70%�*�$5�
�"� ���&$'�"�0��
%�*1ก��� ����
��กก�9� 2.83 �C ��70%&����*����,�7%�C�
0$�%����,�9�* ������ก���	�"7
%�&$'��,�9"�0�$��$	
���22ก��� �
ก!�"#��� �$������ 7
%�+������� ��� �	�"7
%�&$'��,�9"�0�$��$	
���22ก��� �ก!�"#��� �$�����
� 7
%�+������� ���&$'�"�0��
%�*1ก��� ���� ��%*ก�9� 2.83 �C   �
�����1���9�$9%ก�����1� �����9� �
�2�����3�
0/'��ก���� %
ก�	
��'��9�(%� NPV *	�/����&"7
%�&$'��,�9���%
ก 1 �	� (�	��� 
1,380,000 2��) �+70%$%2/�%�����$�%�ก��� �����
0��ก(�
����%*9���	0�&�� 
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 ��70%&���C�
0 8 (+.�.2561) (%�����ก�� �&$'����)�ก*��+�,�� �,����*��	*#1�ก��
2	34�$*5�	
� 8 �	� �������&$'��22$��$	
���22ก��� �ก!�"#��� �$����� "�0��
)�����* �5(%�
)�$9���9��
���	��
�"�ก	2ก!�"#��� �$�%	� �C�� 75,386.07 $9%�	� �	��	
�)�����* �5��� �7%   �C��
75,386.07 * 8 = 603,088.56 2�� �	�$���� 4.5 "�0�����,�$���1� �7%  75,550 * 8   = 604,400 2��%*'9
���C�?��12	��	
�,��  
$�����
0 4.5  ก�������3$���1����)�����* �5(%�������ก��� �ก!�"#��� �$�%	�  
                     ��*���������ก�� 8 �C �%ก�2

* ��%*�� 0.5 
�C�
0 $���1� )�����* �5 

 
�'��9��?��12	�(%�

$���1� 
�'��9��?��12	�(%�

)�����* �5 
0 604,400 - 604,400 - 
1 - 603,088.56 - 600,073.12 
2 - 603,088.56 - 597,057.67 
3 - 603,088.56 - 594,102.54 
4 - 603,088.56 - 591,147.41 
5 - 603,088.56 - 588,192.27 
6 - 603,088.56 - 585,297.45 
7 - 603,088.56 - 582,342.31 
8 - 603,088.56 - 579,447.49 

��� 604,400 4,824,708.48 604,400 4,717,660 
 
 

603,088.56 
 
 

                        0          1            2       3 4            5          6    7           8 
                        604,400 
 

8�+�
0 4.2 �/���)�8'��ก���,�(%��������	�"7
%�&$'��,�9"�0�$��$	
���22ก��� �ก!�"#��� �$�����                   
                 � 7
%�+����������&$'��	
�,�� 
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NPV  =   -604,400+  4,717,660 
          =    4,113,260 
BCR  =   4,717,660/604,400 
          =  7.8 
IRR 
 �
0 i = 80% 
         NPV = -604,400+  603,088.56 (P/A, 50% ,8) 
                                    = -604,400+ 603,088.56 (1.2387) 
                                    =   143,957.24 
 �
0 i = 100% 
         NPV = -604,400+  603,088.56 (P/A, 80% ,8) 
                                    = -604,400+  603,088.56 (0.996) 
                                    =  -2,412.35 
                           i*= 80% + 143,957.24 (100-80)%/( 143,957.24+ 2,412.35) 
                              =  61.26 % 
                                             
                                            �'��9��?��12	�/1�#�(NPV)(2��)                                     4,113,260 
       %	$��)�����* �5$9%$���1�(BCR)                                      7.8 
                                            %	$��)�$%2���8�*������ก��(IRR)��%*��                  99.67 
 
 ��ก�	 �
 

�	��	
�/�� �7% NPV = 4,113,260, BCR = 7.8 ��� IRR = 99.67 �/���,��,̂�
�9� ก��� �ก!�"#��� �$�%	����&$'�(%��)�ก*��+�,�� �� 9��,�	� �7% � ��&$'��22$��$	
���22
ก��� �ก!�"#��� �$����� ���&$'��	
� 8 �	�   �
�����1���9�$9%ก�����1� %
ก�	
���70%+����3���ก�'��9�
(%� NPV *	�/����&"7
%�&$'��,�9���%
ก 3 �	� ( 4,140,000 2��) ��*�+�0�����������%
ก�+
*� 26,740 
2�� 
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4.2  ก
������
� ���
!"#"�$ �%"�����ก
� 
  ก���������,5$���1����)�����* �5(%�����ก�� ก��ก!�"#��� �$�%	����&$'�(%�
�,����*��	*#1�ก��2	34�$*5 +2�9��
�����1���9�$9%ก�����1����ก������ ��*ก���������,5��9���
���&�������/
0*����������9��9�%��
0%�����ก��(�
�$�%�%�*1����ก�� �	��	
�)'���ก�����������
ก���������,5����%9%��,�(%�����ก��,�ก�
ก�����
0*�����$���1� �9�� ��9�*���)�����* �5
(%�����ก�� "�0�����ก���
0�������,5 �7% ����ก��,�	���ก�	�"7
%�&$'�"�0�$��$	
���22ก��� �ก!�"
#��� �$�%	������	
�,�� �29����� 3 ก�3
 �	��

 
 
ก�3
�
0 1 ก���+�0�(�
�(%�$���1��9�� ��9�*(%�����ก�� 
 $���1��+�0�(�
� 10% 

603,088.56 
 
 

                        0          1             2       3 4            5          6    7           8 
                        664,840 
 

8�+�
0 4.3 �/���)�8'��ก���,�(%�������ก�3
$���1��+�0�(�
� 10% 
 
NPV  =  -664,840+  603,088.56 (P/A, 0.5% ,8) 
          = -664,840+  603,088.56 (7.8229) 
          =   4,053,061.49 
 
BCR  =   4,717,660/664,840 
          =  7.09 
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IRR 
 �
0 i = 80% 
         NPV = -664,840+  603,088.56 (P/A, 80% ,8) 
                                    = -664,840+  603,088.56 (1.2387) 
                                    = 82,206 
 �
0 i = 100% 
         NPV = -664,840+  603,088.56 (P/A, 100% ,8) 
                                    = -664,840+  603,088.56 (0.996) 
                                    = -64,164 
                           i*= 80% + 82,206 (100-80)%/( 82,206+ 64,164) 
                              =  91.23 % 
 
$���1��+�0�(�
� 20% 

603,088.56 
 
 

                        0          1            2        3 4            5          6    7           8 
                        725,280 
 

8�+�
0 4.4 �/���)�8'��ก���,�(%�������ก�3
$���1��+�0�(�
� 20% 
 
NPV  =  -725,280+  603,088.56 (P/A, 0.5% ,8) 
          = -725,280+  603,088.56 (7.8229) 
          =   3,992,621.49 
 
BCR  =   4,717,660/725,280 
          =  6.50 
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IRR 
 �
0 i = 80% 
         NPV = -725,280+  603,088.56 (P/A, 80% ,8) 
                                    = -725,280+  603,088.56 (1.2387) 
                                    = 21,766 
               �
0 i = 100% 
         NPV = -725,280+  603,088.56 (P/A, 100% ,8) 
                                    = -725,280+  603,088.56 (1.2387) 
                                    = -124,604 
                           i*= 80% + 21,766 (100-80)%/( 21,766+ 124,604) 
                              =  82.97 % 
 
$���1��+�0�(�
� 30% 

603,088.56 
 
 

                     0           1             2       3 4            5         6   7            8 
                        785,720 
8�+�
0 4.5 �/���)�8'��ก���,�(%�������ก�3
$���1��+�0�(�
� 30% 
 
NPV  =  -785,720+  603,088.56 (P/A, 0.5% ,8) 
          = -785,720+  603,088.56 (7.8229) 
          =   3,932,181.49 
 
BCR  =   4,717,660/785,720 
          =  6.00 
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IRR 
 �
0 i = 40% 
         NPV = -785,720+  603,088.56 (P/A, 40% ,8) 
                                    = -785,720+  603,088.56 (2.331) 
                                    = 602,079 
             �
0 i = 80% 
         NPV = -785,720+  603,088.56 (P/A, 80% ,8) 
                                    = -785,720+  603,088.56 (1.2387) 
                                    = -38,674 
                           i*= 40% + 602,079 (80-40)%/( 602,079+ 38,674) 
                              =  77.65 % 
          
 ก���������,5����ก����ก�3
�
0�
ก���+�0�(�
�(%�$���1�����ก����%*�� 10 �'��9�
�?��12	�/1�#� (NPV) ��9�ก	2 4,053,061.49 2�� %	$��/9��)�����* �5$9%$���1� (BCR) ��9�ก	2 
7.09 ���%	$��)�$%2���8�*��(%�����ก�� (IRR) ��9�ก	2 91.23 ,�ก$���1�����ก���+�0�(�
�
��ก�?��12	���%*�� 20 �'��9��?��12	�/1�#� (NPV) ��9�ก	2 3,992,621.49 2�� %	$��/9��)�����* �5
$9%$���1� (BCR) ��9�ก	2 6.50 ���%	$��)�$%2���8�*��(%�����ก�� (IRR) ��9�ก	2 82.97  ���
,�ก$���1�����ก���+�0�(�
���ก�?��12	���%*�� 30 �'��9��?��12	�/1�#� (NPV) ��9�ก	2 3,932,181.49
2�� %	$��/9��)�����* �5$9%$���1� (BCR) ��9�ก	2 6.00 ���%	$��)�$%2���8�*��(%�
����ก�� (IRR) ��9�ก	2 77.65 �	��	
���70%+����3��	 �
 

�	��	
�/������ +2�9�����ก��� �ก!�"
#��� �$�%	� ���&$'�(%��,����*��	*#1�ก��2	34�$*5 ������ก��,�	���ก�	�"7
%�&$'�"�0�$��$	
���22
ก��� �ก!�"#��� �$�%	������	
�,�� *	��
�����1���9�$9%ก�����1���������ก����70%$���1�(%�
����ก���+�0�(�
���ก�?��12	� ��%*�� 10,20 ��� 30  
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ก�3
�
0 2 ก������(%�)�����* �5(%�����ก�� 
)�����* �5���� 10% 

542,779.70 
 
 

                        0          1            2       3 4            5         6    7            8 
                        604,400 
 

8�+�
0 4.6 �/���)�8'��ก���,�(%�������ก�3
$��)�����* �5���� 10% 
NPV  =  -604,400+  542,779.70 (P/A, 0.5% ,8) 
          = -604,400+  542,779.70 (7.8229) 
          =   3,641,711 
 
BCR  =   4,246,111.35/604,400 
          =  7.03 
 
IRR 
 �
0 i = 80% 
         NPV = -604,400+  542,779.70 (P/A, 80% ,8) 
                                    = -604,400+  542,779.70 (1.2387) 
                                    = 67,941 
 �
0 i = 100% 
         NPV = -604,400+  542,779.70 (P/A, 100% ,8) 
                                    = -604,400+  542,779.70 (0.996) 
                                    = -63,791 
        i*= 80% + 67,941 (100-80)%/( 67,941+ 63,791) 
                              =  90.32 % 
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)�����* �5���� 20% 
482,470.85 

 
 

                        0          1            2       3 4            5         6    7           8 
                        604,400 
 

8�+�
0 4.7 �/���)�8'��ก���,�(%�������ก�3
)�����* �5���� 20% 
 
NPV  =  -604,400+  482,470.85 (P/A, 0.5% ,8) 
          = -604,400+  482,470.85 (7.8229) 
          =   3,169,921 
 
BCR  =   3,774,321.19/604,400 
          =  6.24 
 
IRR 
 �
0 i = 40% 
         NPV = -604,400+  482,470.85 (P/A, 40% ,8) 
                                    = -604,400+  482,470.85 (2.331) 
                                    = 520,240 
 �
0 i = 80% 
         NPV = -604,400+  482,470.85 (P/A, 80% ,8) 
                                    = -604,400+  482,470.85 (1.2387) 
                                    = -6,763 
        i*= 40% + 520,240 (80-40)%/( 520,240+ 6,763) 
                              =  79.49 % 
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)�����* �5���� 30% 
422,161.99 

 
 

                     0           1             2       3 4            5         6   7            8 
                        604,400 
8�+�
0 4.8 �/���)�8'��ก���,�(%�������ก�3
)�����* �5���� 30% 
 
NPV  =  -604,400+  422,161.99 (P/A, 0.5% ,8) 
          = -604,400+  422,161.99 (7.8229) 
          =   2,698,121 
 
BCR  =   3,302,531.05/604,400 
          =  5.46 
 
IRR 
 �
0 i = 40% 
         NPV = -604,400+  422,161.99 (P/A, 40% ,8) 
                                    = -604,400+  422,161.99 (2.331) 
                                    = 379,660 
 �
0 i = 80% 
         NPV = -604,400+  422,161.99 (P/A, 80% ,8) 
                                    = -604,400+  422,161.99 (1.2387) 
                                    = -81,468 
         i*= 40% + 379,660 (80-40)%/( 379,660+ 81,468) 
                              =  72.93 % 
 
 ก���������,5����ก����ก�3
�
0�
ก������(%�)�����* �5����ก����%*�� 10 �'��9�
�?��12	�/1�#� (NPV) ��9�ก	2 3,641,711 2�� %	$��/9��)�����* �5$9%$���1� (BCR) ��9�ก	2 7.03 
���%	$��)�$%2���8�*��(%�����ก�� (IRR) ��9�ก	2 90.32  ��ก�3
�
0�
ก������(%�
)�����* �5����ก����%*�� 20 �'��9��?��12	�/1�#� (NPV) ��9�ก	2 3,169,921 2�� %	$��/9��

DPU



 56 

)�����* �5$9%$���1� (BCR) ��9�ก	2 6.24 ���%	$��)�$%2���8�*��(%�����ก�� (IRR) 
��9�ก	2 79.49  ���,�ก�
ก������(%�)�����* �5����ก����%*�� 30 �'��9��?��12	�/1�#� (NPV) 
��9�ก	2 2,698,121 2�� %	$��/9��)�����* �5$9%$���1� (BCR) ��9�ก	2 5.46 ���%	$��
)�$%2���8�*��(%�����ก�� (IRR) ��9�ก	2 72.93 �	��	
���70%+����3��	 �
 

�	��	
�/������ 
+2�9� ����ก��� �ก!�"#��� �$�%	� ���&$'�(%��,����*��	*#1�ก��2	34�$*5 ������ก��,�	���ก
�	�"7
%�&$'�"�0�$��$	
���22ก��� �ก!�"#��� �$�%	������	
�,�� *	��
�����1���9�$9%ก�����1����
�����ก����70%�
ก������(%�)�����* �5����ก����ก�?��12	� ��%*�� 10,20 ��� 30  
 
ก�3
�
0 3 ก���+�0�(�
�(%�$���1����ก������(%�)�����* �5(%�����ก��+��%�ก	� 
ก���+�0�(�
�(%�$���1����ก������(%�)�����* �5(%�����ก��+��%�ก	�10% 

542,779.70 
 
 

                        0          1            2       3 4            5         6   7            8 
                        664,840 
 

8�+�
0 4.9 �/���)�8'��ก���,�(%�������ก�3
ก���+�0�(�
�(%�$���1����ก������(%�
)�����* �5(%�����ก��+��%�ก	�10% 
 
NPV  =  -664,840+  542,779.70 (P/A, 0.5% ,8) 
          = -664,840+  542,779.70 (7.8229) 
          =   3,581,271 
 
BCR  =   4,246,111.35/664,840 
          =  6.39 
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IRR 
 �
0 i = 80% 
         NPV = -664,840+  542,779.70 (P/A, 80% ,8) 
                                    = -664,840+  542,779.70 (1.2387) 
                                    = 7,501 
               �
0 i = 100% 
         NPV = -664,840+  542,779.70 (P/A, 100% ,8) 
                                    = -664,840+  542,779.70 (0.996) 
                                    = -124,231 
                           i*= 80% + 7,501 (100-80)%/( 7,501+ 124,231) 
                              =  81.14 % 
 
ก���+�0�(�
�(%�$���1����ก������(%�)�����* �5(%�����ก��+��%�ก	�20% 

482,470.85 
 
 

                        0          1            2       3 4            5         6    7           8 
                        725,280 
 

8�+�
0 4.10 �/���)�8'��ก���,�(%�������ก�3
ก���+�0�(�
�(%�$���1����ก������(%�
)�����* �5(%�����ก��+��%�ก	�20% 
 
NPV  =  -725,280+  482,470.85 (P/A, 0.5% ,8) 
          = -725,280+  482,470.85 (7.8229) 
          =   3,049,041 
 
BCR  =   3,774,321.19/725,280 

          =  5.20 
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IRR 
 �
0 i = 40% 
         NPV = -725,280+  482,470.85 (P/A, 40% ,8) 
                                    = -725,280+  482,470.85 (2.331) 
                                    = 399,360 
              �
0 i = 80% 
         NPV = -725,280+  482,470.85 (P/A, 80% ,8) 
                                    = -725,280+  482,470.85 (1.2387) 
                                    = -127,643 
                           i*= 40% + 399,360 (80-40)%/( 399,360+ 127,643) 
                              =  70.31 % 
 
ก���+�0�(�
�(%�$���1����ก������(%�)�����* �5(%�����ก��+��%�ก	� 30% 

422,161.99 
 
 

                        0          1            2       3 4            5         6   7            8 
                        785,720 
8�+�
0 4.11 �/���)�8'��ก���,�(%�������ก�3
ก���+�0�(�
�(%�$���1����ก������(%�      
     )�����* �5(%�����ก��+��%�ก	� 30% 
NPV  =  -785,720+  422,161.99 (P/A, 0.5% ,8) 
          = -785,720+  422,161.99 (7.8229) 
          =   2,516,811 
 
BCR  =   3,302,531.05/785,720 
          =  4.20 
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IRR 
 �
0 i = 40% 
         NPV = -785,720+  422,161.99 (P/A, 40% ,8) 
                                    = -785,720+  422,161.99 (2.331) 
                                    = 198,340 
                �
0 i = 80% 
         NPV = -785,720+  422,161.99 (P/A, 80% ,8) 
                                    = -785,720+  422,161.99 (1.2387) 
                                    = -262,788 
                          i*= 40% + 198,340 (80-40)%/( 198,340+ 262,788) 
                              =  57.20 % 
 
 ก���� �����,5����ก����ก�3
�
0�
ก���+�0�(�
�(%�$���1� ���ก������(%�
)�����* �5(%�����ก��+��%�ก	���%*�� 10 �'��9��?��12	�/1�#� (NPV) ��9�ก	2 3,581,271 2�� 
%	$��/9��)�����* �5$9%$���1� (BCR) ��9�ก	2 6.39 ���%	$��)�$%2���8�*��(%�����ก�� 
(IRR) ��9�ก	2 81.14  ��ก�3
�
0�
ก���+�0�(�
�(%�$���1����ก������(%�)�����* �5(%�����ก��
+��%�ก	���%*�� 20 �'��9��?��12	�/1�#� (NPV) ��9�ก	2 3,049,041 2�� %	$��/9��)�����* �5$9%
$���1� (BCR) ��9�ก	2 5.20 ���%	$��)�$%2���8�*��(%�����ก�� (IRR) ��9�ก	2 70.31  ���
,�ก�
ก���+�0�(�
�(%�$���1����ก������(%�)�����* �5(%�����ก��+��%�ก	���%*�� 30 �'��9�
�?��12	�/1�#� (NPV) ��9�ก	2 2,516,811 2�� %	$��/9��)�����* �5$9%$���1� (BCR) ��9�ก	2 4.20 
���%	$��)�$%2���8�*��(%�����ก�� (IRR) ��9�ก	2 57.20 �	��	
���70%+����3��	 �
 

�	��	
�/��
���� +2�9� ����ก��� �ก!�"#��� �$�%	� ���&$'�(%��,����*��	*#1�ก��2	34�$*5 ������ก��
,�	���ก�	�"7
%�&$'�"�0�$��$	
���22ก��� �ก!�"#��� �$�%	������	
�,�� *	��
�����1���9�$9%ก�����1�
��������ก�� ��70%�
ก��ก���+�0�(�
�(%�$���1����ก������(%�)�����* �5(%�����ก��+��%�
ก	� ��%*�� 10,20 ��� 30  
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4.3  �����������
���
�'���(����"! 

 ก!�"#��� �$�%	������ 7
%�+����
0�
ก���)�����
0/�%����กก�9�� 7
%�+�������8�%70� ,�ก
�	�2���,�ก��/9��/������/�	2/�1� �,��
ก�����	*���+	`����	2���
0*����70%�*�$5�
�"���� �ก!�"
#��� �$�%	������ 7
%�+�������� ���ก%2ก	2 ก������� 7
%�+����
0�����
*2���������������
� 7
%�+���/�%����9/9�)�ก���2$9%/�0������%� "�0��
ก�����%�������	*��ก,��*,�9�*����	
���
���$9���������+70%���
*2��
*2�����3��/����ก�%�/
* �
0�ก����ก���70%�*�$5�
0� �ก!�"#��� �$�
%	�ก	2���70%�*�$5�
0� �� 7
%�+�������8�%70� �	��

 
        4.3.1 ก����ก��(%� West Virginia University /,�	�%����ก� "�0���ก�����
*2��
*2�9��X�
0*(%�
�����3��/����ก�&��*/�� ���70%�*�$5 CUMMINS LTA p 10 �
0� �ก!�"#��� �$�%	�����
���	�
�
�"� +2�9� �&��*/���
0� �ก!�"#��� �$�%	� �
ก����9%*ก!�"���52%��%�%ก�"�5 ���$����
%%ก�"�5 ���-1.���%%� ��%*ก�9��&�
0� ��
�"� ��*�X+��-1.���%%��
�9��X�
0*�+
*� 0.027 ก�	�/
ก�����$� ��(3��
0�&�
�"��
�9��X�
0*%*'9�
0 0.965 ก�	�/ก�����$� %*9����ก^$�� �&*�$5�
0� �ก!�"
#��� �$�%	� �
ก����9%*ก!�"�W������52%�/'�ก�9��&�
�"� ��*�
�9��X�
0*%*'9�
0  5.52 ก�	�/
ก�����$� ��(3��
0�&�
�"��
�9��X�
0*%*'9�
0 1.51 ก�	�/ก�����$� 

        4.3.2  ก����ก��(%� The Australian Greenhouse Office �����ก�����
*2��
*2�& NGV ก	2�&
�
0� ��
���	������ 7
%�+��� +2�9��&�
0ก!�"#��� �$�%	�/����&��ก!�"���52%��%�%ก�"�5���&����%*
�� 50 -80 ��ก!�"���$����%%ก�"�5�����%*�� 60-80 /9��-1.���%%���2����9�
-1.���%%���9%*
%%ก�� 

 ก����ก���	�ก�9�� +2�9�  ����ก��ก��� �ก!�"#��� �$�%	����&$'�(%��)�ก
*��+�,�� -.�*%����/&���
0���*��+�,�� �,����*��	*#1�ก��2	34�$*5 �
�����1���9�$9%ก��
���1����ก������ %
ก�	
�����ก�� *	�ก9%�,��ก������* �5�������/�0������%����* )'���ก������9�
�%ก��ก��ก9%�,��ก������* �5��*$��ก	2�,����*��	*#1�ก��2	34�$*5���� ����ก��*	���ก9%�,��ก��
����* �5$9%/	���/9�����$9%�� 
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����� 5 

��	
��ก����ก�� 
5.1 ��	
��ก����ก�� 

 ก����ก���	�
��
�������������ก��ก�����ก������
������� ����������

 �	�!"�#�"�$�ก�%&�'(��") �*+,���ก��-#��.�"��)�������ก��ก�����ก������
�������  /!�ก��
����01�
���2��#����������/-�ก"��*� �.  
 �	�!"�#�"�$�ก�%&�'(��") /#. �*+,�	�����. )�	�

�$�
�3��������ก��ก�����ก������
��������������    ���/-�ก"��*� �.  
 �	�!"�#�"�$�ก�%
&�'(��") ��"/&3���
� 2 /�	!�� �+� ก�����&��#2,"����+,��"��)�����������
��
��.&&��+0��*#��
�3	
�����+,��"��)�2��#  /#. ก��%���+0������� 
3��,������0��.&&ก�����ก������
������
���+0��*#��
/#�	 -#ก����ก��*&	3�
2-#��.�"��)�ก����0� /#.
2�	�
�$�
�3��3�ก��#�!$� ��� ����� 5.1 
 
�����!2, 5.1 /8��-#��.�"��)/#.����2/8���	�
�$�
�3���ก��#�!$�ก�����ก������
������� 

ก�'2 ���!$�
(&�!) 

-#��.�"��) 
(&�!/�<) 

NPV BCR IRR �.".�	#� 
�+�!$�

(�<) 

%$��$�
!$� 
(km) 

ก��
���&��#2,"�
���+,��"��) 

 
60,000 

 
21,207.56 

 
105,896.13 

 

 
2.76 

 
31.61 

 
2.83 

 
115,384.62 

ก��%���+0���
���� 
3 

75,550 75,386.07 514,157.53 
 

7.80 99.90 1.00 41,059.78 

 
 %�ก�����!2, 5.1 /8��� �� N�	3�!�0�8��ก�'2
2�	�
�$�
�3��3�ก��#�!$� ��,�ก��
���&��#2,"����+,��"��)�����������
��
��.&&��+0��*#���3	
�����+,��"��)�2��# 
2ก��#�!$�!2,�,1�ก	3� 
/�3-#��.�"��)กN�,1�ก	3� ก��%���+0������� 
3��,������0��.&&ก�����ก������
������
���+0��*#��/#�	
��	" �����0�%���	�%���+0������� 
3��,������0��.&&ก�����ก������
������
���+0��*#��/#�	!�/!������
���
!�0� 
� /�3���	�
��
�%���/#�	ก��%���+0������� 
3��,������0��.&&ก�����ก������
������
�
��+0��*#��/#�	!�/!���������
!�0� 
���0� ����&��.
�'8��
�ก (���#. 1,380,000 &�!) �2ก!�0������
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%1��	� 4 ���  �+����,� ��,����!�0� 
� "��
2��"$ก��������
�กก	3� 4 �< /#.��%1��	���0�
2 ��,�
���!2,"���
3��"-3��ก�������� �����0�����ก��ก�����ก������
�����������������
 �	�!"�#�"�$�ก�%
&�'(��") ��,�� 
�.8
ก�&�&��.
�' /#.�ก���	�
�$�
�3�8��8$� �+� ���&��#2,"����+,��"��)��������
���
��
��.&&��+0��*#���3	
�����+,��"��)�2��# ���������,�
2��"$ก��������
�กก	3� 2.83 �< 4 ��� �
+,�
����.".!�� �+��<!2,����%1� �3�" %��!1�ก��%���+0������� 
3��,������0��.&&ก�����ก������
������
�
��+0��*#��/#�	 /#. %���+0������� 
3��,������0��.&&ก�����ก������
������
���+0��*#��/#�	 ���������,�
2
��"$ก�������� ���"ก	3� 2.83 �<   4 ��� ��,�
2��"#.��2"� ����20 
 - ��������!2, 1 �#�!.�&2"�  ��-9353 
!1�ก��%1� �3�"/#.%���+0������� 
3��,������0��.&&ก�����ก������
������
���+0��*#��/#�	 ���< 2553 
 - ��������!2, 2 �#�!.�&2"�  ��-9354 
!1�ก��%1� �3�"/#.%���+0������� 
3��,������0��.&&ก�����ก������
������
���+0��*#��/#�	 ���< 2553 
 - ��������!2, 3 �#�!.�&2"�  � -3640 
!1�ก��%1� �3�"/#.%���+0������� 
3��,������0��.&&ก�����ก������
������
���+0��*#��/#�	 ���< 2554 
 - ��������!2, 4 �#�!.�&2"�  Pก-1826 
!1�ก��%1� �3�"/#.%���+0������� 
3��,������0��.&&ก�����ก������
������
���+0��*#��/#�	 ���< 2555 
 - ��������!2, 5 �#�!.�&2"�  P�-2083 
!1�ก�����&��#2,"����+,��"��)�����������
��
��.&&��+0��*#���3	
�����+,��"��)�2��# ���< 2553 
!1�ก��%1� �3�"/#.%���+0������� 
3��,������0��.&&ก�����ก������
������
���+0��*#��/#�	 ���< 2557 
 - ��������!2, 6 �#�!.�&2"�  P�-7039 
!1�ก�����&��#2,"����+,��"��)�����������
��
��.&&��+0��*#���3	
�����+,��"��)�2��# ���< 2553 
!1�ก��%1� �3�"/#.%���+0������� 
3��,������0��.&&ก�����ก������
������
���+0��*#��/#�	 ���< 2558 
 - ��������!2, 7 �#�!.�&2"�  PQ-5041 
!1�ก�����&��#2,"����+,��"��)�����������
��
��.&&��+0��*#���3	
�����+,��"��)�2��# ���< 2553 
!1�ก��%1� �3�"/#.%���+0������� 
3��,������0��.&&ก�����ก������
������
���+0��*#��/#�	 ���< 2559 
 - ��������!2, 8 �#�!.�&2"�  P!-8592 
!1�ก�����&��#2,"����+,��"��)�����������
��
��.&&��+0��*#���3	
�����+,��"��)�2��# ���< 2553 
!1�ก��%1� �3�"/#.%���+0������� 
3��,������0��.&&ก�����ก������
������
���+0��*#��/#�	 ���< 2561 
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 81� ��&ก���1�����ก����
/-�������� ��%!1�ก��%1� �3�"�����!2,!1�ก�����&��#2,"�
���+,��"��)�����������
��
��.&&��+0��*#���3	
�����+,��"��)�2��# /#.%���+0������� 
3��,������0�
�.&&ก�����ก������
������
���+0��*#��/#�	 ก3��ก1� ����
�.".�	#���� ��ก�'2!2,  
���"$ก��
��������
�.".!�� 400,000  ก��#�
�� ��,�%.!1�� ������&-#��.�"��)��N	��0�   
 -#��.�"��)���ก�����ก������
������� ����������
 �	�!"�#�"�$�ก�%&�'(��") 
8�
���/&3������
� 2 �3	� �+� �3	�/�ก ก�������������
��,����&��#2,"����+,��"��)��
��.&&��+0��*#��
�3	
�����+,��"��)�2��# �3	
ก�& ก����������� 
3��,������0��.&&ก�����ก������
������
���+0��*#��
/#�	 %.
2-#��.�"��)�3��<�*�,
��0���
#1���& /#. �3	� #�� �����!�0� 
���
��������,������0��.&&ก��
���ก������
������
���+0��*#��/#�	 ��,�%.
2-#��.�"��)�3��<�!3�ก��/#.
2
�#�3�8�� �������� 5.2 
/#. -#��.�"��)�!2"&�<�R%%$&�� �������� 5.3 
 
�����!2, 5.2 /8��-#��.�"��)�������ก��ก�����ก������
������� 
                    ����������
 �	�!"�#�"�$�ก�%&�'(��") 

�3	�/�ก �3	� #�� 
�<!2, -#��.�"��) (&�!) �<!2, -#��.�"��) (&�!) 
1 235,602.38 9 603,088.56 
2 310,988.45 10 603,088.56 
3 386,374.52 11 603,088.56 
4 386,374.52 12 603,088.56 
5 440,553.03 13 603,088.56 
6 494,731.54 14 603,088.56 
7 548,910.05 15 603,088.56 
8 548,910.05 16 603,088.56 

�	
 3,352,444.54 �	
 4,824,708.48 
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�����!2, 5.3 /8��-#��.�"��)�������ก��ก�����ก������
�������  ����������
 �	�!"�#�" 
                    �$�ก�%&�'(��")  �!2"&�<�R%%$&�� ����� ��ก�&20" 0.5 

�3	�/�ก �3	� #�� 
�<!2, -#��.�"��) (&�!) �<!2, -#��.�"��) (&�!) 
1 234,424.37 9 600,073.12 
2 307,878.57 10 597,057.67 
3 380,617.54 11 594,102.54 
4 378,724.30 12 591,147.41 
5 429,671.37 13 588,192.27 
6 480,136.96 14 585,297.45 
7 530,027.54 15 582,342.31 
8 527,392.78 16 579,447.49 

�	
 3,268,873 �	
 4,717,660 

 
 ��ก�'2!2,!��
 �	�!"�#�"�S��8�/-����ก#3�	 %.!1�� ��82"-#��.�"��) "ก��	�"3��
��3� ���< 2553  �ก!1�ก��%���+0� ��������!2, 1 �#�!.�&2"�  ��-9353 /#. ��������!2, 2 �#�!.�&2"�  
��-9354 � 
3 ��" %���+0���
�������2��# ��"�
3%���+0���
�������&������,������0��.&&ก�����ก���
���
������� %.!1�� ��82"-#��.�"��)/8����� T�*!2, 5.1 /#. ���< 2553  �ก�
3!1�ก��
���&��#2,"�  ���+,��"��)�����������
��
��.&&��+0��*#���3	
�����+,��"��)�2��# ��  ��������!2, 5 �#�
!.�&2"�  P�-2083 ,  ��������!2, 6  �#�!.�&2"�  P�-7039 , ��������!2, 7 �#�!.�&2"�  PQ-5041 /#. 
��������!2, 8 �#�!.�&2"�  P!-8592 %.!1�� ��82"-#��.�"��)/8����� T�*!2, 5.2 
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T�*!2, 5.1 /8��-#�3���3���+0��*#�����������&���������0��.&&ก������
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T�*!2, 5.2 /8��-#�3���3���+0��*#�����������2��#���&��#2,"����+,��"��)/#.������2��#�������� 4 ��� 
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 ก����ก�����!$�/#.-#��.�"��)�������ก��ก�����ก������
������� ����������

 �	�!"�#�"�$�ก�%&�'(��") *&	3� 
2�	�
� 
�.8
!�������!����/#.
2�	�
�$�
�3��3�ก��#�!$�
!������ก������ ��"ก����ก���
3����	
����	�
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